


CENTRIFUGAL PUMPS 3 Serles

CONTENTS 50 Hz
Rev. L
Page

- SPECIFICATIONS
PUMP SPECIFICATIONS 200
PUMP SPECIFICATIONS 201
MOTOR SPECIFICATIONS 202
SELECTION CHART 203
SELECTION CHART 204
SELECTION CHART 205
PERFORMANCE CURVE 32-125 206
PERFORMANCE CURVE 32-160 207
PERFORMANCE CURVE 32-200 208
PERFORMANCE CURVE 40-125 209
PERFORMANCE CURVE 40-160 210
PERFORMANCE CURVE 40-200 211
PERFORMANCE CURVE 50-125 212
PERFORMANCE CURVE 50-160 213
PERFORMANCE CURVE 50-200 214
PERFORMANCE CURVE 65-125 215
PERFORMANCE CURVE 65-160 216
PERFORMANCE CURVE 65-200 217
PERFORMANCE CURVE 65-250 218
PERFORMANCE CURVE 80-160 219
PERFORMANCE CURVE 80-200 220
PERFORMANCE CURVE 80-250 221

- CONSTRUCTIONS
SECTIONAL VIEW 3M-3LM (32,40,50,65-125/160/200) 300
CONSTRUCTIONS 3M-3LM (32,40,50,65-125/160/200) 301
SECTIONAL VIEW 3LM 80-160/11/13 302
SECTIONAL VIEW 3LM 80-160/15/18.5 303
CONSTRUCTIONS 3LM 80-160 304
SECTIONAL VIEW 3S-3LS (32,40,50) 305
SECTIONAL VIEW 3S-3LS (65-125/160/200) 306
CONSTRUCTIONS 3S-3LS (32,40,50,65-125/160/200) 307
SECTIONAL VIEW 3LS 80-160 308
CONSTRUCTIONS 3LS 80-160 309
SECTIONAL VIEW 3LS (65-250, 80-200/250) 310
CONSTRUCTIONS 3LS (65-250, 80-200/250) 311
SECTIONAL VIEW 3P-3LP (32,40,50,65-125/160/200) 312
CONSTRUCTIONS 3P-3LP (32,40,50,65-125/160/200) 313
SECTIONAL VIEW 3LP 80-160 314
SECTIONAL VIEW 3LP (65-250, 80-200/250) 315
SECTIONAL VIEW 3LP (65-250, 80-200/250) 316
CONSTRUCTIONS 3LP 80-160 317
CONSTRUCTIONS 3LP (65-250, 80-200/250) 318

100

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONTENTS 50 Hz
Rev. L
Page

CONSTRUCTIONS : BALL BEARING 319
CONSTRUCTIONS : BALL BEARING 320
CONSTRUCTIONS : MECHANICAL SEAL (standard and H version) 321
CONSTRUCTIONS : MECHANICAL SEAL (L version @ 22) 322
CONSTRUCTIONS : MECHANICAL SEAL (L version @ 30-35) 323
CONSTRUCTIONS : MECHANICAL SEAL (HS version @ 22) 324
CONSTRUCTIONS : MECHANICAL SEAL (HS and E version) 325
CONSTRUCTIONS : COUPLING 326
CONSTRUCTIONS : FLEXIBLE COUPLING 327
CONSTRUCTIONS : COUNTERFLANGE 328
CONSTRUCTIONS : COUNTERFLANGE 329

- DIMENSIONS
DIMENSIONS 3M-3LM (32,40,50,65/125/160) 400
DIMENSIONS 3M-3LM (50-200,65-160/15,65-200) 401
DIMENSIONS 3LM 80-160/11/13 402
DIMENSIONS 3LM 80-160/15/18.5 403
DIMENSIONS 3S-3LS (32,40,50) 404
DIMENSIONS 3S-3LS (32,65) 405
DIMENSIONS 3S-3LS (40,50,65) 406
DIMENSIONS 3S-3LS (32,40,50,65) 407
DIMENSIONS 3LS 80-160 408
DIMENSIONS 3LS (65-250,80-200/250) 409
DIMENSIONS 3LS 80-200/250 410
DIMENSIONS 3LS 80-250/55 411
DIMENSIONS 3P-3LP (32-40-50-65) 412
DIMENSIONS 3P-3LP (32-40-50-65) 413
DIMENSIONS 3LP (65-250,80) 414
DIMENSIONS 3LP (80-200/250) 415
DIMENSIONS 3LP 80-250/55 416
PACKING AND WEIGHT 3M-3LM 417
PACKING AND WEIGHT 3S-3LS 418
DIMENSIONS AND WEIGHT 3P-3LP 419

- TECHNICAL DATA
MOTOR DATA 500
MOTOR DATA 501

101

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles
P U M P SPECIFICATIONS 50 Hz

Rev. L
Version 3M 3S 3P 3LM 3LS 3LP
32-125 [ ] [ [ ] [] ] ]
32-160 [ ] [ ] [ ] [ ] ] ]
32-200 ] [ ] [ ] [
40-125 [ ] [ [ ] [ ] [
40-160 [ ] [ ] [ ] [ ] [ ] [
40-200 [ ] [ ] [ ] [ ] [ ] [ ]
50-125 [ ] [ ] [ ] [] [ ] [ ]
. 50-160 [ ] [ [ ] [ ] [ ] ]
Pump sizes
50-200 [ ] [ ] [ ] [ ] ] ]
65-125 ] [ ] [ ] [
65-160 [ ] [ [ ] [ ] [
65-200 [ ] [ ] [ ] [ ] [ ] [
65-250 - ° °
80-160 - - - ° ° °
80-200 - - - - ° °
80-250 - - - - ° °
Clean water and moderately aggressive fluids
Type of liquid / Clean water, drinking water, water contains glycol
for E version
Liquid 0
Handled i R -
ande min. 10 -20 for E version
Temperature [°C]
+90 +110
max. 110 for (H-HS version) +120 for E version
Maximum working pressure [MPa] 1

W Available also with H and HS option for 32, 40, 50, 65-125/160/200.

® Auvailable also with H and E option for 65-250, 80.

— Not available.

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

P U M P SPECIFICATIONS 50 Hz

Rev. L
Version aMm | 3 [ 3 | 3M | 3Ls | 3LP
Closed centrifugal type for [32, 40, 50 version]
Impeller Reinforced laser welding for [40-200/11, 50-200/15]
Closed centrifugal three dimensional blades for [65 and 80 version]
Construction Mechanical seal with stationary
Shaft seal type Mechanical seal ring secured against rotation.
Mechanical seal for [H-E option]
Bearing Sealed ball bearing
32-125/160/200 Flange DN50 according DIN 2532 standard
40-125/160/200 Flange DN65 according DIN 2532 standard
Suction 50-125/160/200 Flange DN65 according DIN 2532 standard
65-125/160/200/250 Flange DN80 according DIN 2532 standard
Pipe 80-160/200/250 Flange DN100 according DIN 2532 standard
Connection 32-125/160/200 Flange DN32 according DIN 2532 standard
40-125/160/200 Flange DN40 according DIN 2532 standard
Discharge 50-125/160/200 Flange DN50 according DIN 2532 standard
65-125/160/200/250 Flange DN65 according DIN 2532 standard
80-160/200/250 Flange DN80 according DIN 2532 standard
32-125/160/200 EN 1.4404
Casing 40-125/160/200 EN 14301 (AISI 304) (AISI 316L)
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
ig:i;gﬁggggg EN 1.4301 EN 1.4404
50-125/160 (AISI 304) (AISI 316L)
Impeller 65-125/160/200 EN 1.4401 (AISI 316).
Made by precision casting
65-250 / EN 1.4401 (AISI 316)
80-160/200/250 Made by precision casting
32-125/160/200
40-125/160/200 EN 1.4404
Casing cover 50-125/160 EN 1.4301 (AISI 304) (AISI 316L)
65-125/160/200
65-250 / EN 1.4401 (AISI 316)
80-200/250 Made by precision casting
Ceramic/Carbon/NBR
32-125/160/200 [standard version]
40-125/160/200 Ceramic/Carbon/FPM SiC/SiC/FPM
50-125/160 [H option] [L version]
65-125/160/200 SiC/SiC/FPM
: : HS option
Material Mechanical seal [ ption] SIC/SICIFPM
[L version]
65-250 / Ceramic/Carbon/FPM
80-160/200/250 [H option]
SiC/Carbon/EPDM
[E option]
. NBR
0-ring FPM for [H-HS option] FPM
32, 40, 50
65-125 d=19
65-160/11 EN 1.4404
50-200/15 |d=22 EN 1.4301 (AISI 304) (AISI 316L)
65-160/15
65-200 d=24
Shatt 65250  |d=24 / EN 14462
(Duplex stainless steel)
80-160 d=24 / EN 1.4404 (AISI 316L)
80-200/22 |d=24 / EN 1.4404
80-200/ d=24 / EN 1.4462
30-37kwW (Duplex stainless steel)
EN 1.4462
80-250 d=29 ! (Duplex stainless steel)
Bracket Cast iron - aluminium

201

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

M OTO R SPECIFICATIONS

50 Hz
Rev. L
Version 3(.)M 3(.)S 3(.)P
Tvpe Electric-TEFC
- Single Phase ‘ Three phase
No.of Poles 2
Rotation speed [min"] ~2900
Insulation class F \ F (temperature rise class B)
Protection degree IP 55
. [k 11+22 1.1+22 1.1+55
P t
anEreing [HP] 15+30 1.5+30 15=75
Frequency [HZ] 50
220+240 / 380+415 £5% (up to 4.0 kW)
Voltage V] 230 210% 380+415 / B60+720 5% (5.5 kW and above)
Casing material Aluminium / Cast iron
-PG 135
. . - M20x1.5 - M25x1.5 - M32x1.5
Dimensions of cable entry M20x1.5 Eg ;? _M40x1.5 - M50x1.5 - M63x1 5

Flange mount (IEC motor)

IM B5

(Upto 2.2 KA

IM B35

(3.0 law and above)

IM B3

202

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

SELECTION CHART

50 Hz

TYPE KEY

L3 [ L [ ™M J[ HJ[65]-[160]/[22][] M ]

SINGLE PHASE ONLY

MOTOR OUTPUT kW

Rev. L

1.1

15

IMPELLER CODE

30

55

125

160

DISCHARGE SIZE

200

250

32

40

MATERIAL OPTION

50

65

80

MODEL TYPE

VERSION

For versions
32,40,50
65-125/160/200

AlSI 304

AISI 316L

For versions
65-250 , 80

AlSI 316

3 SERIES

*) No indication

203

= Eaara

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS

series

SELECTION CHART

50 Hz

Rev. L
3 SERIES: 32, 40, 50 VERSION
Pump type kW | HP |i/min 0 100| 150| 200 300| 333 360 400 450 500 600 700 800| 1000 1200
m3h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72
32-125/1.1(M) * | 1.1 | 15 225 21 | 199 | 184 | 141 12 - - - - -
32-160/1.5(M) * [ 1.5 | 2 295| 28 | 265 | 245 | 19.2 17 - - - - -
32-160/2.2(M) * | 2.2 3 37| 355 | 34 32 27 25 - - - -
32-200/3.0 3 4 44| 42 40 | 375 31 28 - - - -
32-200/4.0 4 5.5 55| 535 | 52 | 495 | 435 | 405 38 - - - -
32-200/5.5 55| 75 705 69 | 67.5| 65 58.5 - - - - - -
32-200/7.5 75 | 10 705 69 | 67.5| 65 | 585 | 555 | 53 49 44 - - - -
40-125/1.5(M) * | 1.5 2 20 19 17.6 17 16.5 15.7 14.5 132 10.3 7 - -
40-125/2.2(M) * | 2.2 3 26.5 255 24 235 23 22 21 19.5 16.4 13 - -
40-160/3.0 3 4 31 295 | 275 27 265 | 255 24 225 20 17 - -
40-160/4.0 4 | 55 40 385 | 37 36 355 | 345 33 32 29 25.5 - -
40-200/5.5 55| 75 47 455 | 44 43 425 41 395 38 35 31 - -
40-200/7.5 75| 10 58 57 | 555 55 545 | 535 | 525 51 475 44 - -
40-200/11 11 | 15 72 71 70 70 695 | 685 | 675 66 63 59 - -
50-125/2.2(M) * [ 2.2 | 3 19 - - - 17.5 17 163 | 149 | 134 | 117 8 -
50-125/3.0 3 4 22 - - - 20.5 20 19.6 18.4 17 15.4 11.8 8
50-125/4.0 4 5.5 26.5 - - - 26 25.5 25 24 225 215 17.9 14
50-160/5.5 55|75 33 - - - 31 30.5 30 28.5 27 25.5 22 18
50-160/7.5 75 | 10 40 - - - 38.5 38 37.5 36 35 335 30 26
50-200/9.2 9.2 | 125 53 - - - - - 50 49 475 45.5 40.5 34
50-200/11 11 | 15 59 - - - - 56 55 54 52 48 42
50-200/15 15 | 20 72| - - - - - - - 70 69 68 66 62 57
* Single phase version only for 3M type.
3 SERIES: 65, 80 VERSION
Pump type
kW | HP | imin 0| 600/ 700/ 900| 1300| 1500/ 1700| 1900 2100| 2200/ 2300| 2400/ 2500| 3000| 3400 3600| 3800| 4000
m¥h 0 36 42 54 78 90 102 114 126 132 138 144 150 180 204 216 228 240
65-125/4.0 4 | 55 222[19.8] 19 [17.3] 133 | 11 | 86 | 6.3 - - - - - - - - - -
65-125/5.5 55| 75 27| - | 24 |222] 18 |157] 133 | 108 8 - - - - - - - - -
65-125/7.5 75 | 10 32| - |295|278| 235 | 211 187 | 161 | 134 | 12 - - - - - - - -
65-160/7.5 75| 10 32| - | 30 |286] 248 | 225] 199 | 171 | 14.2 - - : ) - - - ) -
65-160/9.2 9.2 | 125 365 - [345[328]| 288 |265| 239 | 211 | 183 | 168 - - - - - - - -
65-160/11 11 | 15 405 - [385[37.1] 331|309 284 | 258 | 23 | 215 | 20 - - - - - - -
65-160/15 15 20 48 - | 455 44 40 378 | 353 32.6 29.6 28 26.5 - - - - - - -
65-200/15 15 20 53.5 - 51 49 44 415 | 38.4 35.3 31.8 30 - - - - - - - -
65-200/18.5 18.5| 25 60.5| - |585|56.5| 515 49 46 43 39.7 38 36.3 - - - - - - -
65-200/22 22 30 67| - |655| 64 | 595 57 54 51 48 46.5 45 - - - - - - -
65-250/30 30 40 78| - - 77 73.5 71 68 64.5 60 57.5 55 52 - - - - - -
65-250/37 37 | 50 89| - - | 8 | 855 | 83 | 805 | 775 | 74 72 70 | 675 | 65 - - - - -
80-160/11 11 15 29| - - - 273 | 264 | 254 24.2 23 224 21.8 211 20.4 16.4 12.5 - - -
80-160/13 13 1175 32| - - - 305 | 29.7| 28.8 | 27.7 | 265 | 259 | 253 | 246 24 20.1 | 165 | 145 - -
80-160/15R 15 20
80-160/15 35| - - - 34 33.3| 325 | 315 | 305 30 29.4 | 288 | 28.1 | 244 21 19.1 17 -
80-160/18.5 185| 25 40| - - - 39 384 | 376 | 36.7 | 357 | 352 | 347 | 341 | 335 30 26.4 | 244 | 223 20
80-200/22 22 | 30 50| - - - 48 | 47 | 455 | 445 | 43 42 41 40 39 | 332|278 | 25 - -
80-200/30 30 40 60| - - - 58.5 58 57 56 54.5 54 53 52 51 46.5 | 415 39 36.1 33
80-200/37 37 50 66| - - - 64 63 62 61 59.5 59 58 57.5 56.5 | 51.5 47 445 415 38.5
80-250/37 37 | 50 73| - - - | 715 | 705| 685 | 66.5 | 64 63 | 615 | 60 | 585 | 485 | 38 - - .
80-250/45 45 60 84| - - - 825 | 815 80 78 76 75 735 | 725 71 62 53 48 42.5 -
80-250/55 55 75 95| - - - 935 | 925| 915 90 885 | 875 | 86.5 | 855 84 76.5 | 68,5 | 645 60 55

204

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

SELECTION CHART 50 Hz

Rev. L
U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
4 T
120 Imp.gpm. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
- 350
100
Lt - 300
80 -u-u_‘65§250/ JZ o N \250/55 — 250
H 65~250 /30 T RN H
S 50/30 )
[m] - = ~L N N, [f]
60 52-200/55 T #0~20057 907 [ N ~ 200
L N I %15 [ 2% \
w0 s RERTHRLY i nny S Y s SURRI NSO (252
e L 2N 0 O s 0 N TN e
| S L LNy SN | NN,
40 T s=sEEmie=r N0 & 2
2-200/39 s ; ‘O%E‘g 77 0\90;*?: BN
——— e, T - d A | N\ ==\
32-160/25 N 00 S~ TN N @
30 ‘ - 0.,8g SN O % R al) f —100
= 78 T 7S NN 5 N TR AN T
P — | N /¢0 | fp/)J 76N/77’J */3.0
2-1507; : N RN N OXZ
RS i N NS 2N\
I N EN P 04 ARAN 75
- . e DN N2\
| 7 SN 22N TIN7N\
20 3 DN TN\ 3 7 ON CAC
2~125/11 TN 2ONCIN v}ﬁ&v N Yi S\
N N E e\
5 N AW/ WERER\ TNV 2N 5o
NT [\ [ENT "2 AN
' N NEEAY Hﬁ bl 2\
Q | | | = - 40
BN (IEAN
7 AV PAN
10 EAVANIEY
9 2 2 30
: \ \ ]
25
7
6 / / f —20
; [ / J
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T 1717 T T T 171 1 T U T T T 1
6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150 200 300
Q[m /h]
PERFORMANCE CURVES
The specifications below qualify the curves shown on the following pages.
¢ Tolerances according to ISO 9906 Annex A
¢ The curves refer to effective speed of asynchronous motors at 50 Hz
¢ Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1mm?s (1 cSt)
¢ The NPSH curve is an average curve obtained in the same conditions of performance curves.
During the pump selection, consider to get a safety margin of at least 1 m.
¢ The continuos curves indicate the recommended working range. The dotted curve is only a guide.
¢ In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10%
of best efficiency point.
¢ Symbols explanation:
Q = volume flow rate
H = total head
P, = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

32-125/1.1 (1.1kW) — impeller diameter = 133 mm

0 US.gpm. 20 30 40 50 60 70 80 ) 100
| | | | | | | | | | |
| [ [ [ [ [ [ [ [
” 0 Imp.g.p.m. 20 30 40 50 60 70 80
80
H —— H
< 70
[m] " ~_ [ft]
7
~T - 60
™~
S
15 \;\ L 50
N
N
Ny - 40
10
NPSH 30
[m] [#t]
642020
5 5
15
gt 4
NPSH = 1 3o
2
it
0 0
0 50 100 150 200 250 300 350 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ |
0 2 4 6 8 10 12 14 16 18 20 22 Q [mS/h]
1.6
P2 19
[kw] 125/1.1
0.8 =T
0.4
0 50 100 150 200 250 300 350 Q [1/min]
& 1]
n - — T T T T
60 = —=—125/1.1
(7] ] /
1
50 -
A
40
30
0 50 100 150 200 250 300 350 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

206

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
32-160/1.5 (1.5kW) — impeller diameter = 151 mm
32-160/2.2 (2.2kW) — impeller diameter = 166 mm
0 US.g.p.m. 20 30 40 50 60 70 80 90 100
| ] ] ] ] ] | ] ] ] ]
| T | 1 | 1 | T |
0 Imp.g.p.m. 20 30 40 50 60 70 80
40 130
H T ==L —120 H
~—
[m] 35 ~~_ 7 y [ft]
6‘ —
%22
NN
30— 100
e \
~ N 90
~ p N
25 ~%05 { 8o
NPSH 70
N
2 [m] [
N — 60
" .5
20
15 5 150
NPSH s
— 40
13
10
0 50 100 150 200 250 300 350 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m3h]
2.4
———160/2.2
KW, - F
[kw] 1.6 = 160/1.5
1.2 o —
0.8
0 50 100 150 200 250 300 350 Q [I/min]
70
: I
| =160/2.2
[%] 60 P ~160/1.5
=
50 =
40
0 50 100 150 200 250 300 350 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
207

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

32-200/3 (3.0kW) — impeller diameter = 186 mm
32-200/4 (4.0kW) — impeller diameter = 200 mm
32-200/5.5 (5.5kW) — impeller diameter = 224 mm
32-200/7.5 (7.5kW) — impeller diameter = 224 mm

0 USgpm. 20 30 40 5 60 70 8 9 100 110 120 130
| | | | | | | | | | | | | |
| I I I I | I I I I [ 1
0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 10
80 - 260
H —240 H
= ft
[m] 70 S [ft]
S - 220
T~
60 755 - 200
‘\\
g 180
I —
\/ 40 0/) 5
N~
T = N NPSH [-140
—
40 — - ™~ [m] [ft]
200
T -
~\/\.g 85120
N A
A1 6+
30 < ~ | [100
L] Lt 4_
NPSH-— =" 10
24 5 80
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]
[ I I I I I I I I I I I I I I 1
0 2 4 6 8 10 12 14 16 18 20 22 24 2 28 Q[m3h]
8
. [TTTT HEN
2 200/5.5 200/7.5
(kW] —
4 o S 200,/4.0
u 200/3.0~
2 L 1 L L L
0 50 100 150 200 250 300 350 400 450 Q [I/min]
60
. L] \ —11200/4.0 [T
50 % — e ~200/7.5
(% === 200/55 200/3.0
40 -
Zaih
30
20
0 50 100 150 200 250 300 350 400 450 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

208

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

40-125/1.5 (1.5kW) — impeller diameter = 125 mm
40-125/2.2 (2.2kW) — impeller diameter = 140 mm

0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
[ T T T T ] T T T
" 0 Imp.g.p.m. 40 60 80 100 120 140 160
90
H - H
[m] 25 s S g [
25 25
70
20 ==
T~ N —60
S
<L ™
15 \é‘ h —50
\\‘ \‘
SN
— 40
N
0 iy NPSH
h [m] [ft]L 30
™N %
7
2020
5 5 15
g
NPSH - — 3410110
s
0 0
0 100 200 300 400 500 600 700 Q [I/min]
I T T T T T T T T T T T 1
0 4 8 12 16 20 24 28 32 36 40 44 Q[m3n]
3
. 1]
2 125/2.2]_
[kw] T |
1 ] 125/1.5
0
0 100 200 300 400 500 600 700 Q [I/min]
80
n — ~
] ™~
[%] 70 — ~ ™~ 1?5‘/2.‘2'_
/
. 5 1
125/1.5 | |
o | 11
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
209

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

45

[m] 40

35

30

25

20

15

10

P2
[kw]

N & o

80

[%] 70

60

50

Rev. L

40-160/3 (3.0kW) — impeller diameter = 151 mm
40-160/4 (4.0kW) — impeller diameter = 166 mm

0 USgpm. 40 60 80 100 120 140 160 180 200
| L L I — - | L L I —1
0 Imp.g.p.m. 40 60 80 100 120 140 160
— 140
H
=TT —130 [ft]
T~ 120
p L
60 40
—110
-~
= ™ —100
~N~ ™ 90
~~%30
™~ - 80
S~
‘ NPSH 70
~ [m] [ft]
60
N M e
20 5
5 L
NPSH . 1
3410 L0
15
0 100 200 300 400 500 600 700 Q [1/min]
[ [ [ [ [ [ [ [ [ [ [ [ 1
0 4 8 12 16 20 24 28 32 36 40 44 Q [m3m]
[ T 1
160/4.01
[——— RN
L 160/3.07]
— fu—
0 100 200 300 400 500 600 700 Q [I/min]
et ~160/4.0 | |
- 160/3.0
. =
=
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
210

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
40-200/5.5 (5.5kW) — impeller diameter = 183 mm
40-200/7.5 (7.5kW) — impeller diameter = 200 mm
40-200/11 (11kW) —impeller diameter = 224 mm
0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| I I I I [ I I I
5 0 Imp.g.p.m. 40 60 80 100 120 140 160
250
H il H
m] 70 T -200/11 230 [ft]
—
S~ 210
60 .
& P 190
1200
9751
~ =170
50 T~~~
—_ TN
— 5 ~ 150
~1_ ‘02/25
40 i NPSH |-130
~— [m] [ft]
By
~_ T Mo
30 -~ 5 15
NPSH | T 3Ll
5
1 L
2 70
0 100 200 300 400 500 600 700 Q [I/min]
[ I I I I I I I I I I I ]
0 4 8 12 16 20 24 28 32 36 40 44 Q [m3h]
12
1]
Py 10 200/1117
kw] 8 — — [
[] 5 —— 200/7.5
— 200/5.5—
4 L
2 11
0 100 200 300 400 500 600 700 Q [I/min]
80
‘ | T T T L]
n o5 ] - 200/7.5
(%] —_—
el !
50 200/5.51 -~
40 200/11
30 L | |
0 100 200 300 400 500 600 700 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
211

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

50-125/2.2 (2.2kW) — impeller diameter = 126 mm
50-125/3 (3.0kW) — impeller diameter = 131 mm
50-125/4 (4.0kW) — impeller diameter = 140 mm

0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| [ | I | [ |
© 0 Impgpm. 50 100 150 200 250 300
H | H
[m] 25 S~ [ft]
\725 2 - 80
N0
20 i \\‘\
——= 7 2 5 N
£ 60
~ \‘\/]3\0
™S o N
2 N
N N —40
NG N
10
NPSH
[m] [ft]
62020
° NPSH ~ gy
L 4
T 2“’
il
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
6
]
P 2 I I
— 125/3.0 7
2 125/2.2
) [ ]
0 200 400 600 800 1000 1200 Q [I/min]
80
) %9 ~T~ | | ] 125/40
T~y .~ T
T~ T T
125/2.2 N 125/3.01
0 200 400 600 800 1000 1200 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

212

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 series
PERFORMANCE CURVE 50 Hz
Rev. L
50-160/5.5 (5.5kW) — impeller diameter = 154 mm
50-160/7.5 (7.5kW) — impeller diameter = 166 mm
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I | | | | I
5 0 Imp.gpm. 50 100 150 200 250 300
—160
H H
[m] o [
40 ===
~— 16 -
— \0/2 5 120
—— 1 .
30 . ~. —100
76’0
i /55
\\\
\\\ NPSH [~80
[m] [ft]
20 10
5 EU
6120
NPSH | .
- | 10
2 40
10
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
8 —
P, - 160/7.5+—
e e [
kw6 —— —
— ] 160,/5.5—
4 ——
2
0 200 400 600 800 1000 1200 Q [I/min]
80
, T 1]
———— 160/7.5
[#] 70 -
== 160/5.5 | |
7,
60 =
50
0 200 400 600 800 1000 1200 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
213

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

50-200/9.2 (9.2kW) — impeller diameter = 191 mm
50-200/11 (11kW) — impeller diameter = 200 mm
50-200/15 (15kW) — impeller diameter = 224 mm

0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
[ [ [ [ [ [ [
0 Impgpm. 50 100 150 200 250 300
80 - 260
H 240 H
Tl 20, ft
(m] 70 ——<00/15 (ft]
220
[ —
T~
50— - 200
T T+ 2 ~
~— <007, - 180
—— _ ‘ j‘\
i | 2
50 ] 0&/9. 2 L 160
\\‘ \\
\\‘ N
NPSH [-140
40 \\\‘ [m] [#t]
4 120
815
o B|
30 — P
NPSH — L
20
0 200 400 600 800 1000 1200 Q [1/min]
[ [ [ [ [ [ [ [ [
0 10 20 30 40 50 60 70 Q [m3/h]
18 —
(kW] | 1
12 — 200/11
——— 200/9.27 |
6 = e |
0 200 400 600 800 1000 1200 Q [1/min]
80 |
n ——
% T—
[%] 70 /4 —
200/9.2 ///, —
60 200 M=
200/15
50 —
0 200 400 600 800 1000 1200 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

214

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
65-125/4 (4.0kW) — impeller diameter = 128 mm
65-125/5.5 (5.5kW) — impeller diameter = 138 mm
65-125/7.5 (7.5kW) — impeller diameter = 149 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
| | I I I | I
" 0 Imp.gp.m. 100 200 300 400 500 600
120
H
[m]
30 T~ 100
—
———11 ~ J
[~ NS5 80
~N
L N9
T~ iy N ‘ N
20 = 7
\\25/.5 NG L
N ) N 60
S | 7‘\
Ny
B 2‘5/4.0 SN N NPSH
N [m] [ft] [740
10 ™S NG “
\\ 8
620 —20
NPSH g )
10
2
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I | I I
0 20 60 80 100 120 140 Q [m3/h]
8 T T
P2 L 125/7.5
6 L 1
kW T T
[ — 125/5.5
4 —T— ;
| 125/4.0
2 i L L
0 400 800 1200 1600 2000 2400 Q [I/min]
80
n ot
(%] 70 . ~
T~
N, N
60 NS 125 |/7‘5
o 125/40 NN 125/55
| |
0 400 800 1200 1600 2000 2400 Q [I/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

215

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
65-160/7.5 (7.5kW) — impeller diameter = 153 mm
65-160/9.2 (9.2kW) — impeller diameter = 161 mm
65-160/11 (11kW) — impeller diameter = 168 mm
65-160/15 (15kW) — impeller diameter = 178 mm
0 U.S.g.p.m. 100 200 300 400 500 600 700
| | | | | | | |
I I I I I [ I
0 Imp.g.pm. 100 200 300 400 500 600
» — 160
H H
[m] ~ 76 140 1)
W= T~ 7\5
™
L . 120
=~ o~ 760 ~N
_ T~ >
I 76, N - 100
30 ~_ 0/92 \\
7 N
‘\\\ \\ \\‘
20 S
NN Npsi | °°
[m] [ft]
— 6420 |40
? NPSH 1T R
— 310 20
2
|5
0 0
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I T T I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
16 | —
P, ———— 160/15
k] 12 — 160/11
6 — _— 160,/9.2
] 160/7.5
. c L
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
% 80 —
. S ———
S [60/15
70 N~ |~ 160/11
NS 160/9.0—
5 160/7.5 " 177 |
I
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
216

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
65-200/15 (15kW) —impeller diameter = 190 mm
65-200/18.5 (18.5kW) — impeller diameter = 201 mm
65-200/22 (22kW) —impeller diameter = 212 mm
0 US.gp.m. 100 200 300 400 500 600 700
| | | | | | | |
| | I I I | I
0 0 Imp.gpm. 100 200 300 400 500 600
g s A O 220
H H
[m] a oo Lft]
60 = e = | \\20%2 200
‘\\ N
Il N P h —180
= RS 00//8 N
50 ~ NS N
N 160
™
\\f N 140
40 ™
N
NG 120
\\ NPSH
N [m] [#]
30 100
P
NPSH 620
" B 4 80
510
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I | | I I
0 20 40 60 80 100 120 140 Q [m3/h]
24
P, —— 200/22
[kw] — e 200/18.5
16 — = —
— — 200/15
8 — | |
0 400 800 1200 1600 2000 2400 Q [I/min]
90
n
[%] 80 — 200/22
" 200/18.5
70 200/15
60
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
217

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
65-250/30 (30kW) — impeller diameter = 235 mm
65-250/37 (37kW) — impeller diameter = 250 mm
0 US.gp.m. 100 200 300 400 500 600 700
| ] ] ] ] ] | ]
| 1 1 1 1 1 1
100 0 Imp.gpm. 100 200 300 400 500 600
H —300 H
[m] R e L [ft]
~
80 —~—
I s e O \250/30 \\\ 250
\\\ N
\\\
N
60 200
NPSH
[m] [ft]
10 150
30
40 81
NPSH = 62
f]
— 4 I 1B 100
— | - 10
215
20
0 400 800 1200 1600 2000 2400 Q [I/min]
[ I I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
40 —
P2 ——— =-250/37-
— |
[kw] —— L 250/30 |
/// |
20 —
10
0 400 800 1200 1600 2000 2400 Q [I/min]
80
" | — -
—
(%] 70 / ™~ 250,/37 _|
= 250/30
=
60
50
0 400 800 1200 1600 2000 2400 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
218

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PERFORMANCE CURVE 50 Hz

Rev. L

80-160/11 (11kW) —impeller diameter = 154 mm
80-160/13 (13kW) —impeller diameter = 160 mm
80-160/15R (15kW) —impeller diameter = 160 mm
80-160/15 (15kW) —impeller diameter = 165 mm
80-160/18.5 (18.5kW) — impeller diameter = 174 mm

0 US.g.p.m. 200 400 600 800 1000 1200
| | | | | | |
| | [ | [ |
0 Imp.g.pm. 200 400 600 800 1000
%0 160
H
[m] ™40 1]
40 =
~ 7 120
o T Y ~L%155
I—\
= 7o LY B
30 e — \ 6'0//5 100
=~ 60 )13 \\
N /75,9 h \, — 80
20 ~ ™~
h N
N 60
NN
N NPSH
[m] [ft] | 49
10 104
— 30
NPSH 8
‘ — — 62020
4_
y 10
0 0
0 1000 2000 3000 4000 Q [I/min]
[ [ [ [ | [ 1
0 50 100 150 200 250 Q [m3/h]
20
o) | —1 160/18.5
/
[kw] ' — 160/15
12 —+— —— 160/13,/15R
’/’ ] !
. — 160/11
8 L L
0 1000 2000 3000 4000 Q [I/min]
90 |
, ——
— —
[%] & N R 160/15
~
70 N \\\ 16(‘)/18 5
1§0/11\*160/13/15R | “
60 — —
0 1000 2000 3000 4000 Q [1/min]

Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A

219

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
80-200/22 (22kW) — impeller diameter = 196 mm
80-200/30 (30kW) — impeller diameter = 211 mm
80-200/37 (37kW) — impeller diameter = 219 mm
0 USgpm. 200 400 600 800 1000 1200
| ] ] ] ] ]
| | | | | [
5 0 Imp.g.p.m. 200 400 600 800 1000
250
H H
[m] A [ft]
T
— 200
60 e — | 200,55
200
—— \ .~
~— , \\\i\ \ 5o
SN0
40 %25 SN
\\ N
N\ A 100
N NPSH
[m] [ft]
20 8 5
—1 612050
NPSH - s
I - 10
25
0 0
0 1000 2000 3000 4000 'Q [1/min]
[ I I | I | ]
0 50 100 150 200 250 Q [m3/h]
40 —
P, — 200/37
[kw] — 200/30
2 —_—T 200/22
I |
10 |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80
= \\\§\ 200,/37
70 s N \ | |
74 N 200/30
# 200/22 S
60 | | | ‘ ‘
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
220

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

PERFORMANCE CURVE 50 Hz
Rev. L
80-250/37 (37kW) — impeller diameter = 230 mm
80-250/45 (45kW) — impeller diameter = 245 mm
80-250/55 (55kW) — impeller diameter = 259 mm
0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I [
0 Imp.g.p.m. 200 400 600 800 1000
100 _ImP-gPm
' el ‘*\\\‘ 25 - 300
[m] T T T T T e [#]
80 —~—]
250 | N - 250
—_"—‘——~-~o-\\ <3 NG
~ 25 | \\ \
60 %255 NG - 200
< \\
\\ \\
\\\ \\1 —150
40 N
NPSH [~ 100
[m] [ft]
20 815
NPSH ?—é/ 6—20|-50
— 415
p—
10
25
0 0
0 1000 2000 3000 4000 Q [I/min]
[ T I I | I 1
0 50 100 150 200 250 Q [m3¥/n]
Py 250,/55
[kw] L — 250/45
I —
30 e 250/37
0 1000 2000 3000 4000 Q [I/min]
80
n "~ — -
[%] 70 7 /‘/ N \\\\\
5'/ EANE 250,/55
60 \\ \\ T
250/37—250/45
50 | | | | I |
0 1000 2000 3000 4000 Q [I/min]
Rotation speed =2900 min-1
Test standard : ISO 9906 Annex A
221

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SerieS
CONSTRUCTIONS 3()M 32, 40, 50, 65 50 Hz

Rev. L

1 4 26 72 06 16 17 58 6 12 21

I
jD — 99
B 774‘ —— 101
=
\ ‘ -
f 15
ZL 200 11 3 18 92 19 22 42 20 15

UP TO 11 kW

244

15 kW AND ABOVE

300

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3(.)M 32, 40, 50, 65

50 Hz

Rev. L
MATERIAL DIMENSIONS STANDARD N. FOR
N° PART NAME
3M 3LM 1 UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AIS| 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor-Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM See p. 321-325 1
SiC/SiC/FPM (HS option)
012 |Motor frame with stator 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal N 1
017 |Terminal box cover Aluminium (three phase version) 1
018 |Splash ring [Up o 11 kw NBR / 40x21.5x3 EBARA DRAWING w
|15 kw and above 50x29.5%3
019 |Bearing See table p.319 1
020 |Bearing - See table p.319 1
021 |Adjusting ring Steel C70 1
Up to 3 kW M5
022 Tie rod For4-55-75kw Fe 42 Zinc-coated M6 EBARA DRAWING 4
9.2 e 11kW M8
Screw 15 kW and above Zn. Steel 8.8 strenght class 1ISO 898-1 M10x40 UNI 5739
25 | Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8" L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 32-160, 40-160, 50-125, 65-160 NBR ) EPM 183.52x5.34 OR 6720 1
32-200, 40-200,50-160, FPM (H-HS option) 227 96x5.34 OR 6895
50-200, 65-160, 65-200 : :
032 |Key Up to 11 kW EN 1.4401 (AISI 316) A 6x6x25 UNI 6604 1
15 kW and above A 8x7x30
Up to 11kwW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Foot Aluminium / Zinc-coated steel EBARA DRAWING [2]
056 |Box gasket NBR 1
058 |Fasting nut [3]
072 |Casing ring [4] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
073 |Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Up to 3kW 25x40x7
092 |Lip seal From 4 to 7.5 kW ~ 30x47X7 ‘DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
Up to 4 kW 25x40x7
093 |Lip seal From 5.5 kW to 7.5 kW 30x47X7 ‘DIN 3769 1
From 9.2 kW to 11 kW 40x55x7 without spring
From 15 kW to 22 kW 45x60x7
101 |Snap ring (only 9.2 and 11kw) Carbon tool steels TC 80 @ 40 UNI 7435 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-1f Stainless steel A2 70 class I1SO 3506/1
50-228: 62-125: Zgleg 25-2(6)8’ M 10x35 UNIS739 5l
206 |Screw for bracket [6] Zn. Steel 8.8 strenght class ISO 898-1 M 10x40 UNI 5739 4
244 |Pin [7] - \ EN 1.4301 (AISI 304) 4x15 1

Counterflange Kit on request, see table p. 328-329

[1] Not for L version
[2] N° for 1 unit=0 for 65-160/15
Ne for 1 unit=1 for 32-40-50 and 65 up to 11kW
Ne° for 1 unit=2 for 65-200/15, 65-200/18.5, 65-200/22
[3] N° for 1 unit=1 up to 11kW
N° for 1 unit=2 from 15kW to 22kW
[4] For version 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5,
50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15
[5] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
Ne° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200
[6] For 15kW and above
[7] Only for 65-160/15 and 65-200

301

E2ARA EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

CONSTRUCTIONS 3 L M 80' 160

€T/09T-08 - TT/09T-08

vo0¢
€ ¢ 0¢ 0cC ¢¢ ¢v 10¢ 101 61 ¢6 8l #¥C 00CSEC 8L 9L GC L

Y1)

LL ¥T SL Sl vl €l k9 86 LI 91 96 € 9¢ ¥ LI ¢¢ ¥¢ |

302

EBARA PUMPS EUROPE S.p.A.

= Eaara



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3 L M 80' 160 50 Hz

~
~
< Lo
N e
0 .y
= 3
-
o
o0
1
Lo
—
~~
o
- ©
S -
N o
% 0]
N
0 Xy
< —
- N
= S
2 N
/—co
; H B
,/
0 //
T}
[«,]
= /_‘_
N
bL /—m
- %( ) <
©
= — <
o
8 1L S8
[{e] L_} I.DN
5 o
© [ -
= <+
Lp] _ ﬂ - /—l")
8 < -
+ 3
S || Q
~ —

Iy
:

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L M 80' 160

50 Hz

Rev. L

N° PART NAME MATERIAL DIMENSIONS STANDARD N. FOR
1 UNIT
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Shaft with rotor EN 1.4404(AISI 316L) -Part in contact with liquid 1
007 |Impeller EN 1.4401 (AISI 316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
SiC/Carbon/EPDM (E option)
012 |Motor frame with stator - 1
013 |Motor cover Aluminium 1
014 |Fan Poliammide 1
015 |Fan cover Fe P04 Zinc-coated 1
016 |Terminal - 1
017 |Terminal box cover Aluminium 1
018 |Splash ring NBR 50x29.5x3 EPE DRAWING 1
019 |Bearing - See table p. 319 1
020 |Bearing - See table p. 319 1
021 |Adjusting ring Steel C70 1
022 |Screw Zn. Steel 8.8 strenght class I1SO 898/1 EPE DRAWING 4
024 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G 3/8 EPE DRAWING 1
026 |"O"ring FPM 227.96x5.34 OR 6895 1
032 |Key EN 1.4404 (AISI 316L) 8x7x30 UNI 6604 1
034 |Impeller nut Aluminium M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING [1]
056 |Box gasket NBR 1
058 |Fasting nut - [2]
075 |Washer (plug) EN 1.4404 (AIS| 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
. 11- 13 kW 40x55x7 DIN 3760 1

092 Lip seal - . X

15-18.5 kW 45x60x7 without spring 1

. 11- 13 kw 40x55x7 DIN 3760 1

093 Lip seal - X X

15-18.5 kW 45x60x7 without spring 1
101 [Snap ring (only 11 - 13 kW) Carbon tool steels TC 80 340 UNI 7435 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 ) 10x35 UNI 5739 10
200A |Screw M 10x30 2
201 |Screw 11-13kw Stainless steel A2-70 class ISO 3506/1 M 6x40 UNI 5739 E

15-18.5 kW M 12x40 4
206 |Screw for bracket (only 15 - 18.5 kW) Zincked steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4
220 |Nut for tie rod (only 11 - 13 kW) Zincked steel M10 4
230 |Washer 11-18kw — . . .

15-18.5 kW Zincked steel 13x24x2.5 UNI 6592 4
235 |Washer EN 1.4301(AlSI 304) 10.5 UNI 8842 12
244 |Pin [3] EN 1.4301(AISI 304) 4x15 1

Counterflange kit on request, see p. 328-329

[1] N° for 1 unit=1 for version 80-160/11 and 80-160/13
N° for 1 unit=2 for version 80-160/15 and 80-160/18.5
[2] N° for 1 unit=1 for version 80-160/11 and 80-160/13
N° for 1 unit=2 for version 80-160/15 and 80-16018.5
[3] Not for H and E version

304

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3(.)8 32, 40, 50 50 Hz

Rev. L

J = =
Tl ploe]
Lﬂ&l | — g 1 |
B gnnan ; = ——
(2 |
?&; J\Hﬁﬁﬂﬁm : II:]:IEI:II:]::
I _ &
201
4 1 2611 5 44 206

e } \
A) | ,
=B [ 1
nnnnnNNNAN :
| uuuuluuULU (
( | ,
j ‘ —] — ] |
— '
I am / janun| /
¥ B R [ 11
[T 7 . d\\ /
73 44 372 25 200 /72 6 47 12

305

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3(.)8 65 50 Hz

Rev. L

nsuap)|
T

206-2

0000000000000
f/'ll_ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ_ﬂ

ﬁ : | : l—- i
|

NI kl S t<_ ___________ e — il D 1

yuuuuuuuuuuul

000000000000
I

=N (!

306

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()8 32, 40, 50, 65

50 Hz

Rev. L
MATERIAL DIMENSIONS | STANDARD | N. FOR
N° PART NAME
3s 3Ls 1UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring [1] Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
006 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) See table p. 326 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM See p. 321-325 1
SiC/Sic/FPM (HS option)

012 |Motor - 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1

32-125, 40-125 158.11x5.34 OR 6625
026 |"0" ring 22122 40-160, 50-125, NBR EPM 183.52x5.34 OR 6720 1

32-200, 40.200,50-160. FPM (version H and HS)

50-200, 65-160, 65-200 227.96x5.34 OR 6895
032 |Key Up 1o 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1

15 kW and above 8x7x30

Up to 11kw M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1

15 kw and above M20x1.5
042 |Foot Aluminium / Zinc-coated steel 2]
044 |Protection EN 1.4301 (AISI 304) EBARA DRAWING 1
072 |Casing ring [3] EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 1

32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1

50-200, 65-125, 65-160, 65-200 M 10x35 UNI5739 “
201 |Screw Zn. Steel 8.8 strenght class 1SO 898/1 M 10x16 UNI 5739 [5]
206 |Screw for bracket Zn. Steel 8.8 strenght class ISO 898/1 M 10x40 UNI 5739 4

206-2 |Screw adapter ring [1] Zn. Steel 8.8 strenght class ISO 898/1 UNI 5931 4

244 |Pin [6] EN 1.4301 (AISI 304) UNI 5931 4

Counterflange kit on request see p. 328-329

[1] Only for version 65-125/5.5 and 65-125/7.5

[2] N° for 1 unit=0 for version 65-200/22
N° for 1 unit=1 for version for 32, 40, 50, 65-125/5.5, 65-125/7.5, 65-160/11, 65-160/15, 65-200/15, 65-200/18.5
Ne° for 1 unit=2 for version for 65-125/4, 65-160/7.5, 65-160/9.2

[3] Only for version 32-200, 40-200, 50-160, 50-200

[4] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
Ne° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[5] Only for version 32-125/1.1, 32-160/1.5, 32-160/1.5, 32-160/2.2, 40-125/1.5, 40-125/2.2, 50-125/2.2

[6] Only for 65-160/15, 65-200

307

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L S 80' 160 50 Hz

75 24 77

Rev. L

10 O]

12

L JIJ:L(
LT
\42

44

3
R

0000000000000

34 7 32 4 26 N

00000000000

1

235 200 244 6
200A

25 76 78

308

Iy
:

EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

CONSTRUCTIONS 3 L S 80' 160

50 Hz

Rev. L

N. FOR

N° PART NAME MATERIAL DIMENSIONS STANDARD

1 UNIT
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI 316L) 1
006 |Coupling EN 1.4404 (AISI 316L) See table p. 326 1
007 |Impeller EN 1.4401 (AISI 316) 1

SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
“O" FPM
026 |"O"ring EPDM (E option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Foot Aluminium EPE DRAWING 2
044 |Protection EN 1.4301 (AISI 304) EPE DRAWING 2
075 _|Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
200 |Screw Stainless steel A2-70 M 10x35 UNI 5739 10
200A |Screw class 1ISO 3506/1 M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 1
Counterflange Kit on request see p. 328-329
[1] Not for H and E version.
309

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3LS 65'250, 80 50 Hz

Rev. L

75 24 77

ﬁili "77 I
o|T I
=Yl T
oL s
e l —— L T L
i
) - =)
" \ o s T ©
= ] | E
+— 7;““ K— T—— g
8- ~ m =1
~ /] ==, j}}" | ﬁ
B E D /%‘/\% e

310

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L S 65'250,

80

50 Hz

Rev. L
s N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
3LS
001 |Casing EN 1.4401 (AISI 316) 1
003 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
003A |Adapter ring Cast iron EN-GJL-200-EN 1561 [1]
004 |Casing cover EN 1.4401 (AISI 316) 1
004A |Screw for casing cover EN 1.4301(AISI 304) 2
65-250 d=24 mm EN 1.4404 (AISI 316L) for 22 kW 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
006 Coupling 80-200 d=24 mm EN 1.4404 (AISI 316L) for 22 kW See table p. 326 1
EN 1.4462 (Duplex stainless steel) for 30-37 kW 1
80-250 d=29 mm EN 1.4462 (Duplex stainless steel) 1
007 |Impeller EN 1.4401 (AlISI 316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 |Motor - 1
024 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI 316L) G3/8 EPE DRAWING 1
. FPM
"O" rin
026 g EPDM (E version) 253.36x5.34 OR 6995 1
65-250 B 1
032 |Key 80-200 d=24 mm EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 d=29 mm 8x7x40 1
65-250 1
i =24 M20x1.
034 'F:Efe"er 80-200 d=24 mm EN 1.4404 (AISI 316L) L5 UNI 7474 1
85-250 d=29 mm M24x2 1
042 |Foot for motor _ . Aluminium EPE DRAWING [2]
042A |Foot for pump Aluminium/zincked steel (only for 80-250/55) [3]
075 |Washer (plug) EN 1.4404 (AISI 316L) L
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E version) 1
200 |Screw Stainless steel A2-70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301(AISI 304) 13 UNI 8842 10
244 |Pin [4] EN 1.4301(AISI 304) 4x12 1

Counterflange kit on request, see table p. 328-329

[1] Only for 65-250/37 , 80-200/37 , 80-250/37 — 80-250/45 and 80-250/55
[2] N° for 1 unit=2 for 80-250/55
[3] N° for 1 unit=2 for 80-200/30 , 80-200/37 , 80-250/45
for 1 unit=1 for 80-250/55
[4] Not for H and E version.

311

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3()P 32, 40, 50, 65 50 Hz

Rev. L

|
| I
|
|
| “Hr
! =
2 N |
L
i~ | \ O
@ ‘ m
‘ E ~ <
| - [ M~ N
=L ;
<+ [ T |
ﬁ\l | | "
—— M
~ ||
: | 5
| ©
- 3
~ o~
- <
gyl
ly il
€@]
o ¥
A N
©
©
N // ~
()]
— 4’4 | — §
. i~ A :
N , |'L ﬁ( - a
< Al 7 | /I(~i e
) | ~_ ,@7
ﬁ\] H
= )
N~

312

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3()P 32, 40, 50, 65

50 Hz

Rev. L
MATERIAL DIMENSIONS STANDARD | N. FOR
N° PART NAME
3P 3LP 1UNIT
001 |Casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
006 |Shaft - Part in contact with liquid EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table pag. 327 1
007 |Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 1
Carbon/Ceramic/NBR
011 |Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/IFPM See p. 321-325 1
SiC/SiC/FPM (E option)
012 |Motor 1
019 |Bearing See table p. 320 1
020 |Bearing - See table p. 320 1
025 |Draing plug EN 1.4401 (AISI 316) / PTFE R 1/8"L=8 DIN 906 1
32-125, 40-125 158.11x5.34 OR 6625
026 |"O"ring 32-160, 40-160, 50-125, 65-125 NBR FPM 183.52x5.34 OR 6720 1
32-200, 40-200, 50-160, FPM (version H and HS) 227.96x5.34 OR 6895
50-200, 65-160, 65-200
032 |Key Up o 11 kW EN 1.4401 (AISI 316) 6x6x25 UNI 6604 1
15 kW and above 8x7x30
033 |Key C 40 8x7x40 UNI 6604 1
Up to 11kwW M16x1.5
034 |Impeller nut 50-200/15 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) M18x1.5 UNI 7474 1
15 kW and above M20x1.5
042 |Pump support Fe 37 Zinc-coated EBARA DRAWING 1
42A |Base Fe 37 Zinc-coated 1
044 |Protection Fe 37 Zinc-coated 1
050 |Foot Aluminium / Zinc-coated steel 1
058 |Fasting nut N 1
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
072 |Casingring [1] EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
073 |Casing ring (not for 65 version) EN 1.4301 (AISI 304) ‘ EN 1.4404 (AISI 316L) 1
092 |"V"ring - VS - 0030 1
093 |"V"ring VS - 0030 1
32-125, 40-125 M 8x30 UNI 5739 8
200 |Screw 40-160, 40-200, 50-125, 50-160, Stainless steel A2 70 class ISO 3506/1 W 1035 NI 5735 .
50-200, 65-125, 65-160, 65-200
244 |Pin [3] / EN 1.4301 (AISI 304) 4x15 1

Counterflange kit on request see p. 328-329

[1] For version: 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-1607.5,
50-200/9.2, 50-200/11, 50-200/15
[2] N° for 1 unit=10 for 32-160, 40-160, 50-125, 65-125
N° for 1 unit=12 for 32-200, 40-200, 50-160, 50-200, 65-160, 65-200

[3] Only for 65-160/15 and 65-200

313

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L P 80'160 50 Hz

7% 24 77

Rev. L

3 6 20 67 93

66 92 89 19

42

11 244

200
200A

235

~

NNNNNN

314

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles
CONSTRUCTIONS 3L P 65'250, 80 50 Hz

Rev. L

42

6 20 67 93

92 66 89 19
200

m's 1 244 3 |

235

315

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

CONSTRUCTIONS 3LP 65'250, 80

Rev. L

316

EBARA PUMPS EUROPE S.p.A.

= Eaara



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 L P 80'160

50 Hz

Rev. L
N. FOR
N° PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4404 (AISI316L) 1
006 |Shaft EN 1.4404 (AISI316L)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E ption)
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
025 |Plug EN 1.4404 (AISI316L) G3/8 EPE DRAWING 1
I FPM
026 |"O"ring EPDM (€ option) 227.96x5.34 OR 6895 1
032 |Key EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
033 |Key C 40 8x7x40 1
034 |Impeller nut EN 1.4404 (AISI 316L) M20x1.5 UNI 7474 1
042 |Pump support Zincked steel EPE DRAWING 1
042A |Base Zincked steel EPE DRAWING 1
044 |Protection Zincked steel EPE DRAWING 1
050 |Foot Aluminium EPE DRAWING 2
050A |Spacer for pump / /
050B |Spacer for pump / /
050C |spacer for protection / /
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E option) 1
089 |Snap ring Carbon tool steels TC 80 2 40 UNI 7435 1
092 |V 1ing - VS-0030 L
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 10x35 UNI 5739 10
200A |Screw M 10x30 2
235 |Washer EN 1.4301(AISI 304) 10.5 UNI 8842 12
244 |Pin [1] EN 1.4301(AISI 304) 4x15 UNI 6873 1

Counterflange kit on request, see table p. 328-329

[1] Not for H and E option.

For drawing see p.314-316

317

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3LP 65'250, 80

50 Hz

Rev. L
3 N. FOR
N PART NAME MATERIAL DIMENSIONS STANDARD
1 UNIT
001 |Casing EN 1.4401 (AISI316) 1
003 |Support Cast iron EN-GJL-200-EN 1561 1
004 |Casing cover EN 1.4401 (AISI316) 1
004A |Screw for casing cover EN 1.4301 (AISI 304) 2
006 |Shaft EN 1.4462 (Duplex stainless steel)-Part in contact with liquid 1
006A |Flexible coupling Cast iron EN-GJL-250-EN 1561 See table p. 327 1
007 |Impeller EN 1.4401 (AISI316) 1
SiC/SiC/FPM
011 |Mechanical seal Ceramic/Carbon/FPM (H option) See p. 321-325 1
Sic/Carbon/EPDM (E option)
012 |Motor - 1
019 |Bearing - See table p. 320 1
020 |Bearing - See table p. 320 1
024 |Plug EN 1.4404 (AISI316L) G3/8 1
025 |Plug EN 1.4404 (AISI316L) G3/8 1
. FPM
026 |"O"ring EPDM (E version) 253.36x5.34 OR 6995 1
65-250| 1
032 |Key go-200 0724MM EN 1.4401 (AISI 316) 8x7x30 UNI 6604 1
80-250 d=29 mm 8x7x40 1
033 |Key C 40 10x8x60 UNI 6604 1
. 65-250| 1
og4 [MmPeller go-20q 9724MM EN 1.4404 (AISI 316L) M20xL.5 UNI 7474 1
nut
80-250  d=29 mm M24x2 1
042 |Pump support Zincked steel 1
042A |Base Zincked steel 1
044 |Protection Zincked steel 1
050 |Foot (only for 65-250/22kW) Aluminium 2
050A |Spacer Aluminium [1]
050B |Spacer Aluminium [2]
050C |Spacer for protection Aluminium [3]
066 |Impeller side bearing cover Cast iron EN-GJL-200-EN 1561 1
067 |Motor side bearing cover Cast iron EN-GJL-200-EN 1561 1
075 |Washer (plug) EN 1.4404 (AISI 316L) 1
076 |Washer (plug) 1
077 |O-ring (plug) FPM 1
078 |O-ring (plug) EPDM (E version) 1
089 |Snap ring Carbon tool steels TC 80 @50 UNI 7435 1
092 |'V"ring VS-0040 1
093 |"V"ring 1
200 |Screw Stainless steel A2 70 class ISO 3506/1 M 12x45 UNI 5739 10
235 |Washer EN 1.4301 (AISI 304) 13 UNI 8842 10
244 |Pin [3] EN 1.4301 (AISI 304) 4x12 UNI 6873 1

Counterflange kit on request, see table p. 328-329

[1] N° for 1 unit=0 for 65-250, 80-200/22 and 80-250/55
N° for 1 unit=2 for 80-200/30, 80-200/37 and 80-250/45

[2] N° for 1 unit=0 for 65-250, 80-200/22 and 80-250/55
N° for 1 unit=2 for 80-200/30, 80-200/37 and 80-250/45

[3] Not for H and E option.

For drawing see p.308-309

318

E2ARA

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 50 Hz
Rev. L
Type pumps Ball bearing Type pumps Ball bearing
Single Phase Three Phase Pump side Fan side Three Phase Pump side Fan side
50 Hz 50 Hz 50 Hz
3()M 32-125/1.1 M | 3()M 32-125/1.1 3(.)S 32-125/1.1 6204-2Z C3 | 6204-2Z C3
3()M 32-160/15 M | 3()M 32-160/15 | oo oot o 3()S 32-160/1.5 6205.27 C3 | 6205.27 C3
3()M 32-160/2.2 M | 3(.)M 32-160/2.2 6205-SRSH C3 3(.)S 32-160/2.2
3(.)M 32-200/3 3(.)S 32-200/3 6206-2Z C3 | 6206-2Z C3
) 3(.)M 32-200/4 6206-2RS1 C3 3(.)S 32-200/4 6306-2Z C3 | 6306-2Z C3
(M 32-200/5.5 | o005 oRs1 C3 | 6206-2RS1 C3 3()S 32-200/5.5 6208-2Z C3 | 6208-2Z C3
3(.)M 32-200/7.5 3()S 32-200/7.5
SOV 4019872 2 30N 4019872 2| G205-SRSH 3 30 do15ms | POTELCY | 6205223
()M 40- : ()M 40- : 6205-SRSH C3 ()S 40- :
3(.)M 40-160/3 3(.)S 40-160/3 6206-2Z C3 | 6206-2Z C3
3(.)M 40-160/4 6206-2RS1 C3 3(.)S 40-160/4 6306-2Z C3 | 6306-2Z C3
i 8(M40-20055 | o5 5Rs1 €3 | 6206-2RS1 C3 3()S 40-200/5.5 6208-2Z C3 | 6208-2Z C3
3(.)M 40-200/7.5 3(.)S 40-200/7.5
3()M 40-200/11 | 6308-2RS1 C3 | 6208-2RS1 C3 3(.)S 40-200/11 6209-2Z C3 | 6209-2Z C3
3()M50-12522 M | 3()M 50-12512.2 | (e cooct o 3(.)S 50-125/2.2 6205-2Z C3 | 6205-2Z C3
3(.)M 50-125/3 6205-SRSH C3 3(.)S 50-125/3 6206-2Z C3 | 6206-2Z C3
3(.)M 50-125/4 6206-2RS1 C3 3(.)S 50-125/4 6306-2Z C3 | 6306-2Z C3
3()M50-160/5.5 | o sbot o3 | 6206.2RS1 C3 3(.)S 50-160/5.5
3(.)M 50-160/7.5 3(.)S 50-160/7.5 6208-2Z C3 | 6208-2Z C3
28& 28";88; 51"12 6308-2RS1 C3 | 6208-2RS1 C3 i(')z zg'zggj 3'12
: . ()S 50- 6209-2Z C3 | 6209-2Z C3
3()M 50-200/15 | 6309-2RS1 C3 | 6309-2RS1 C3 3(.)S 50-200/15
3(.)M 65-125/4 6206-2RS1 C3 | 6205-SRSH C3 3(.)S 65-125/4 6306-2Z C3 | 6306-2Z C3
3(.)M 65-125/5.5 3()S 65-125/5.5
3()M 65-125/7.5 | 6306-2RS1 C3 | 6206-2RS1 C3 §
9 3()S 65-125/7.5 6208-2Z C3 | 6208-2Z C3
- 3()M 65-160/7.5 3(.)S 65-160/7.5
(M 65-16019.2_ | o0 oRs1 C3 | 6208-2RS1 C3 3()S 65-160/9.2
3(.)M 65-160/11 3(.)S 65-160/11
3(.)M 65-160/15 }
3( )M 65200/15 3()S 65-160/15 6209-2Z C3 | 6209-2Z C3
()M 65- 6309-2RS1 C3 | 6309-2RS1 C3 3()S 65-200/15
3(.)M 65-200/18.5 3(.)S 65-200/18.5
3(.)M 65-200/22 3(.)S 65-200/22 6310-2Z C3 | 6310-2Z C3
3LM 80-160/11 3LS 65-250/30
6308-2RS1 C3 | 6208-2RS1 C3 6312-27 6312-27
3LM 80-160/13 3LS 65-250/37
gtm :g'igg; 12 o | 6309-2Rs1 C3 | 6300-2RS1 C3 SLS 80-160/11
' SLS 80-160/15R | 650957 c3 | 6209-22 C3
3LS 80-160/15
3LS 80-160/18.5
3LS 80-200/22 6310-2Z C3 | 6310-2Z C3
3LS 80-200/30
3LS 80-200/37 6312-27 6312-27
3LS 80-250/37
3LS 80-250/45 6313 27 6313 27
3LS 80-250/55 6314 6314 1)

1) Motor available with lubrificator for regular re-greasing of bearing.

319

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS: BALL BEARING 50 Hz
Rev. L
BALL BEARING
Type pumps Ball bearing
Three Phase Pump Motor

50 Hz Pump side Motor side Pump side Fan side
3(.)P 32-125/1.1 6204-2Z C3 6204-2Z C3
3(.)P 32-160/1.5 6306-2RS1 C3 | 6206-2RS1 C3 6205-27 C3 6205-27 C3
3()P 32-160/2.2
3(.)P 32-200/3 6206-2Z C3 6206-2Z C3
3(.)P 32-200/4 6308-2RS1 C3 | 6306-2RS1 C3 6306-2Z C3 6306-2Z C3
3()P 32-200/5.5 6208-2Z C3 6208-2Z C3
3()P 32-200/7.5
8()P 40-125/1.5 6205-2Z C3 | 6205-2Z C3
3()P 40-125/2.2 6306-2RS1 C3 | 6206-2RS1 C3
3(.)P 40-160/3 6206-2Z C3 6206-2Z C3
3(.)P 40-160/4 6306-2Z C3 6306-2Z C3
3()P 40-200/5.5 6208-2Z C3 | 6208-2Z C3
3(.)P 40-200/7.5 6308-2RS1 C3 | 6306-2RS1 C3
3(.)P 40-200/11 6209-2Z C3 6209-2Z C3
3(.)P 50-125/2.2 6205-2Z C3 6205-2Z C3
3(.)P 50-125/3 6306-2RS1 C3 | 6206-2RS1 C3 6206-2Z C3 6206-2Z C3
3(.)P 50-125/4 6306-2Z C3 6306-2Z C3
3(.)P 50-160/5.5
3(.)P 50-160/7.5 6208-2Z C3 6208-2Z C3
3(.)P 50-200/9.2 6308-2RS1 C3 | 6306-2RS1 C3
3()P 50-200/11 6209-2Z C3 6209-27 C3
3(.)P 50-200/15
3(.)P 65-125/4 6306-2Z C3 6306-2Z C3
3(.)P 65-125/5.5 6306-2RS1 C3 | 6206-2RS1 C3
3()P 65-125/7.5 6208-2ZC3 | 6208-2Z C3
3()P 65-160/7.5
3()P 65-160/9.2
3(.)P 65-160/11
3(.)P 65-160/15 6308-2RS1 C3 | 6306-2RS1 C3 6209-27 C3 6209-27 C3
3(.)P 65-200/15
3(.)P 65-200/18.5
3(.)P 65-200/22 6310-2Z C3 6310-2Z C3
SLP _65-250/30 6310-2RS1 C3 | 6308-2RS1 C3 6312-2Z 6312-2Z
3LP 65-250/37
3LP 80-160/11
SLP 80-160/15R 6308-2RS1 C3 | 6306-2RS1 C3 6209-2Z C3 6209-2Z C3
3LP 80-160/15
3LP 80-160/18.5
3LP 80-200/22 6310-2Z C3 6310-2Z C3
3LP 80-200/30
3LP 80-200/37 6310-2RS1 C3 | 6308-2RS1 C3 6312-2Z 6312-2Z
3LP 80-250/37
3LP 80-250/45 6313-2Z 6313-2Z
3LP 80-250/55 6314 6314 1)
1) Motor available with lubrificator for regular re-greasing of bearing.

320

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS

50 Hz

MECHANICAL SEAL STANDARD AND H VERSION

L2

¢d3

?d1
®d2

8d4
#d5

Rev. L

Version
Manuf.

Description

Manufacturer Reference

Material
Description

Pump
type

di

d2

d3

Dimensions

d4 | d5

L1

L2

1
Stationary
seal ring

Material
2 3
Rotary
seal ring | rubber

4
Frame
+ spring

Standard

Roten

UNITEN 3K

X6X62V6

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31| 37

27.5

10

65-160/15
65-200

30

24

46

39 | 45

42.5

325

10

Carbon

Ceramic NBR

EN 1.4401
(AISI 316)

XYXY2VY

32-125/160/200
40-125/160/200
50-125/160/200
65-125
65-160/7.5
65-160/9.2
65-160/11

22

19

38

31| 37

27.5

10

65-160/15
65-200
65-250
80-160/200

30

24

46

39 | 45

42.5

325

10

80-250

35

29

50

44 | 50

42.5

32.5

10

Carbon

Ceramic FPM

EN 1.4401
(AISI 316)

321

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 50 Hz
Rev. L
MECHANICAL SEAL L VERSION @22
4 3
OO
o g [ N
37.5
Manufacturer Reference Material
1 2 3 4
Pump
Manuf. Description Matgrlgl type Stationary| Rotary Frame
Description . . .
seal ring | seal ring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 EN 1.4571
Burgmann| M377GN85/22-00-R | Q1Q1VGG | 65-125 SiC SiC FPM (AIS| (.316Ti)
65-160/7.5
65-160/9.2
65-160/11
322

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

Rev. L

MECHANICAL SEAL L VERSION

#d3

éd1
6d2

|

|

|

‘ N

‘ )

\ =
+
éd4

9ds

Manufacturer Reference Pump Dimensions Material
type
1 2 3 4
- Material dl|d2|d3|d4 | d5 | L | L1 | L2 |Stationary| Rotary Frame
Manuf. Description - . . .
Description seal ring | sealring | rubber + spring
65-160/15
65-200 30 | 24 | 44 | 39 | 45 |425] 31 |115 . . EN 1.4571
Burgmann | M377GN85-R| Q1Q1VGG | 65-250 : : Sic Sic FPM (A|S|516Ti)
80-160/200
80-250 35|29 | 49 | 44 | 50 |42.5] 31 [115
323

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

Rev. L

MECHANICAL SEAL HS VERSION @22

9272
|
|
|
857

. 28.5 9
. 37.5 o
Manufacturer Reference Material
Pump 1 2 3 4
Manuf. Description Matgrlgl type Statlonary Rota_ry Frarr_1e
Description seal ring | sealring | rubber + spring
32-125/160/200
40-125/160/200
50-125/160/200 _ . EN 1.4571
Burgmann| MG1S6/22-G3 | Q1Q1VGG | 65-125 SiC SiC FPM (AISI 316Ti)
65-160/7.5
65-160/9.2
65-160/11
324

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

Rev. L
MECHANICAL SEAL HS AND E VERSION
L
L1 L2
| Q NN |
. |
- |
o
2 | |
- 4 5 2 1 3 o
3 o : —— 5 ¥
o o
S ‘ ‘ Y
Manufacturer Reference Dimensions Material
Version Pturr;p 1 2 3 4
M . Material yp dl | d2 | d3|d4|d5| L | L1l| L2 [Stationary| Rotary Frame
anuf. Description - . ) )
Description seal ring | seal ring rubber + spring
HS M377GNX/30-00-R | Q1Q1VGG 23:238/15 30 | 24 | 44 | 39 | 45 |425] 31 |115 SiC SiC FPM (i:\“SIl341567Tll)
Burgmann 65-250
E M377GNX/35-00-R| QIBEGG |80-160/200 | 30 | 24| 44| 39| 45 1425/ 31 [1L5] capon | sic | EPDM (/'i:\‘sf's“li%
80-250 35|29 | 49 | 44 | 50 |42.5] 31 |11.5

325

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS 3 ( . ) S

50 Hz
Rev. L
COUPLING
L
- Set screw UNI EN ISO 4029 \
— o |3 pne—
| L1 |
< z 4T — 1 ————F 9=
Motor Dimensions mm
Typepumps | kW | HP i | g | a1 | d2 | d3 M L || b h | Setscrew
32-125/1.1 1.1 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
32-200/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
40-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/9.2 9.2 125 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 | 114 12 45.3 M8x8
65-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-125/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 | 114 12 45.3 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
65-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-160/11 11 15 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-160/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 | 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 | 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 | 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 | 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 | 144 18 64.4 M12x12
326

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 3(.) P 50 Hz

Rev. L
FLEXIBLE COUPLING
S
‘ \
\
— >
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
Motor Dimensions mm
Typepumps | kW HP gl g | b | bt | d2 | b2 | he
32-125/1.1 1.1 1.5 80 24 8 27.3 19 6 21.8
32-160/1.5 15 2 90 24 8 27.3 24 8 27.3
32-160/2.2 2.2 3 90 24 8 27.3 24 8 27.3
32-200/3.0 3 4 100 24 8 27.3 28 8 31.3
32-200/4.0 4 5.5 112 24 8 27.3 28 8 313
32-200/5.5 5.5 7.5 132 24 8 27.3 38 10 41.3
32-200/7.5 7.5 10 132 24 8 27.3 38 10 41.3
40-125/1.5 15 2 90 24 8 27.3 24 8 27.3
40-125/2.2 2.2 3 90 24 8 27.3 24 8 27.3
40-160/3.0 3 4 100 24 8 27.3 28 8 31.3
40-160/4.0 4 55 112 24 8 27.3 28 8 313
40-200/5.5 5.5 7.5 132 24 8 27.3 38 10 41.3
40-200/7.5 7.5 10 132 24 8 27.3 38 10 41.3
40-200/11 11 15 160 24 8 27.3 42 12 45.3
50-125/2.2 2.2 3 90 24 8 27.3 24 8 27.3
50-125/3.0 3 4 100 24 8 27.3 28 8 31.3
50-125/4.0 4 55 112 24 8 27.3 28 8 313
50-160/5.5 5.5 7.5 132 24 8 27.3 38 10 41.3
50-160/7.5 7.5 10 132 24 8 27.3 38 10 41.3
50-200/9.2 9.2 12.5 132 24 8 27.3 38 10 41.3
50-200/11 11 15 160 24 8 27.3 42 12 45.3
50-200/15 15 20 160 24 8 27.3 42 12 45.3
65-125/4.0 4 55 112 24 8 27.3 28 8 313
65-125/5.5 5.5 7.5 132 24 8 27.3 38 10 41.3
65-125/7.5 7.5 10 132 24 8 27.3 38 10 41.3
65-160/7.5 75 10 132 24 8 27.3 38 10 41.3
65-160/9.2 9.2 12.5 132 24 8 27.3 38 10 41.3
65-160/11 11 15 160 24 8 27.3 42 12 45.3
65-160/15 15 20 160 24 8 27.3 42 12 45.3
65-200/15 15 20 160 24 8 27.3 42 12 45.3
65-200/18.5 18.5 25 160 24 8 27.3 42 12 45.3
65-200/22 22 30 180 24 8 27.3 48 14 51.8
65-250/30 30 40 200 32 10 35.3 55 16 59.3
65-250/37 37 50 200 32 10 35.3 55 16 59.3
80-160/11 11 15 160 24 8 27.3 42 12 45.3
80-160/15R 15 20 160 24 8 27.3 42 12 45.3
80-160/15 15 20 160 24 8 27.3 42 12 45.3
80-160/18.5 18.5 25 160 24 8 27.3 42 12 45.3
80-200/22 22 30 180 32 10 35.3 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 35.3 55 16 59.3
80-250/37 37 50 200 32 10 35.3 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 35.3 60 18 64.4
327

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

CONSTRUCTIONS
COUNTERFLANGE ZINCKED STEEL
F
‘ E ‘
| — |
— [ |\_/-"_I ‘
ooy (O | ]
i y
L
SN N° Holes 218
Counterflange Screw
bN] D | E| F | H | HL| L | M | SN |DIMENSIONS| MATERIAL
32 [G11/4 100 | 100 | 15 | 11.5]| 67 | 50 | 4
40 [G11/2] 110 | 110 | 175 | 115 | 72 | 58 | 4
50| G2 | 125 | 125 | 19 | 15 | 89 | 70 | 4 M16x55 sthénStr?tellifs
65 G21/2 145 | 185 | 23 | 14 | 104 | 88 | 4 o 808.1
80| G3 | 160 | 200 | 24 | 16 |117.5| 100 | 8 ML6X60
100] G4 | 180 | 220 | 29 | 16 | 144 | 125 | 8
COUNTERFLANGE EN 1.4404 (AISI 316L)
£
D
SN N Holes 218 |
I
g‘ !
L |
F
Counterflange Screw
DN|] D | E| F | H | HL| L | M | SN |DIMENSIONS| MATERIAL
32 |G 11/4] 100 | 140 | 295 | 14 | 66 | 44
40 [G11/2] 110 | 150 | 29.5| 14 | 71 | 50.5
50 G2 125 165 34 | 16 | 83 | 63 | | M3 IASZJg;c')Zf
65 |G21/2] 145 | 185 | 40 | 16 | 103 | 80
80| G3 | 160 | 200 | 42 | 18 | 122 | 92 | 8 M16x60

= Eaara

EBARA PUMPS EUROPE S.p.A.




CENTRIFUGAL PUMPS 3 Serles

CONSTRUCTIONS 50 Hz

Rev. L

COUNTERFLANGE EN 1.4404 (AISI 316L) DN100

‘ E

SN_N° Holes 218 ‘ D
!
NI |

T | - | |

] | ‘
! T
J L
F

Counterflange Screw

DN D E F H H1l L SN | DIMENSIONS | MATERIAL

A2-70 class

100 | G4 | 180 | 220 | 35 | 20 | 150 8 M16x70 |55 3506-1

GASKET

DN M M1

32 38 82
40 50 93
50 60 107
. 65 80 125
Thickness 2 80 90 | 140

100 115 160

Material : EPDM for standard version
FPM for L version

329

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 SerieS
DIMENSIONS 3()M 32, 40, 50, 65 50 Hz

Rev. L
- P2 _
ON2 Vi A
o
72) V2 Z—-918
T ) /-918
- — T ~
in at) -
1 s
y |
—
- «| = | f T+
ol ol A [ =
- |
4 —
’T T
Fig. 1 ||~
S1 M o|%
SIES
Fig. 2
25 |
Dimensions (mm)
Model [] 2| @ [7] z [] 2| @ [] H3 V1 V2 Weight
DN1| P1 | K1 | D1 |S1|[1]|[2]|DN2| P2 | K2 | D2 |S2|Fig.| H | HL | H2 | 3] | 4 | R|W | M [NL|N2| A | B C [3] [3] [4] [kof ]
32-125/1.1(M) | 50 | 95 | 125|165 | 16| 4 | - | 32 | 75 [ 100 | 140 | 14| 1 | 252 | 112 | 140 | 124 | 141 | 80 | 70 | 114 | 140 | 190 | 213 | 408 | 219+230 - PG 13.5 | M20x1.5[ 19.6
32-160/1.5 (M) 50 95 | 125 | 165 | 16 | 4 - 32 75 | 100 | 140 14| 1 292 | 132 | 160 | 124 | 141 | 80 | 70 | 118 | 190 | 240 | 254 | 408 | 219+230 - PG 13.5 | M20x1.5| 225
32-160/2.2(M) | 50 | 95 | 125|165 | 16| 4 | - | 32 | 75 [ 100 | 140 | 14| 1 | 202 | 132 | 160 | 124 | 141 | 80 | 70 | 118 | 190 | 240 | 254 | 408 | 219:230 - PG 13.5 | M20x1.5| 24.6
32-200/3.0 50 95 | 125 | 165 | 16 | 4 - 32 75 | 100 | 140 14| 1 340 | 160 | 180 | 124 - 80 | 70 | 119 | 190 | 240 | 296 | 433 | 244+255 - PG 13.5 - 32.8
32-200/4.0 50 | 95 125|165 16| 4 | - | 32| 75 [100| 140 | 14| 1 | 340 | 160|180 141 - | 80| 70 | 129 | 100 | 240 | 296 | 454 | 253 - PG 16 - 395
32-200/5.5 50 95 | 125 | 165 | 16 | 4 - 32 75 | 100 | 140 |14 | 1 340 | 160 | 180 | 150 - 80 | 70 | 119 | 190 | 240 | 296 | 475 275 PG135| PG 16 - 48.5
32-200/7.5 50 | 95 [ 125|165 |16 4 | - | 32 | 75 [100| 140 | 14| 1 | 340 | 160 ] 180 [ 150 | - | 80 | 70 | 119 | 100 | 240 | 296 | 517 | 275 |[PG135| PG 16 - 57
40-125/1.5 (M) 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 14| 1 252 | 112 | 140 | 124 | 141 | 80 | 70 | 114 | 160 | 210 | 213 | 408 | 219+230 - PG 13.5 | M20x1.5| 20.1
40-125/2.2 (M) 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 (14| 1 252 | 112 | 140 | 124 | 141 | 80 | 70 | 114 | 160 | 210 | 213 | 408 | 219+230 - PG 13.5 | M20x1.5| 22.7
40-160/3.0 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 |14 | 1 292 | 132 | 160 | 124 - 80 | 70 | 118 | 190 | 240 | 254 | 433 | 244+255 - PG 135 - 28
40-160/4.0 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 1 292 | 132 | 160 | 141 - 80 | 70 | 118 | 190 | 240 | 254 | 454 253 - PG 16 - 35.1
40-200/5.5 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 2 340 | 160 | 180 | 150 - 100| 70 | 115 | 212 | 265 | 296 | 495 275 PG135| PG 16 - 48.8
40-200/7.5 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 | 14| 2 340 | 160 | 180 | 150 - 100| 70 | 115 | 212 | 265 | 296 | 537 275 PG 135 | PG 16 - 56.2
40-200/11 65 | 115 | 145 | 185 | 16 | 4 - 40 80 | 110 | 150 | 14 | 2 340 | 160 | 180 | 178 - 100 | 70 | 115 | 212 | 265 | 296 | 594 359 PG 135 | PG21 - 67.5
50-125/2.2 (M) 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 292 | 132 | 160 | 124 | 141 | 100| 70 | 114 | 190 | 240 | 254 | 428 | 219+230 - PG 135 | M20x1.5| 28.1
50-125/3.0 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 292 | 132 | 160 | 124 - 100 | 70 | 114 | 190 | 240 | 254 | 453 | 244+255 - PG 13.5 - 28.6
50-125/4.0 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 292 | 132 | 160 | 141 - 100| 70 | 114 | 190 | 240 | 254 | 474 253 - PG 16 - 35.2
50-160/5.5 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 340 | 160 | 180 | 150 - 100 | 70 | 115 | 212 | 265 | 296 | 495 275 PG 135 | PG 16 - 49.1
50-160/7.5 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 340 | 160 | 180 | 150 - 100| 70 | 115 | 212 | 265 | 296 | 537 275 PG 135 | PG 16 - 55.5
50-200/9.2 65 | 115|145 | 185 | 16| 4 | - | 50 | 95 | 125 | 165 | 16| 2 | 360 | 160 | 200 | 178 | - |100| 70 | 115 | 212 | 265 | 296 | 594 | 359 |PG135| PG21 - 61.7
50-200/11 65 | 115 | 145 | 185 | 16 | 4 - 50 95 | 125 | 165 | 16 | 2 360 | 160 | 200 | 178 - 100| 70 | 115 | 212 | 265 | 296 | 594 359 PG 135 | PG21 - 67.5
65-125/4 80 | 134 | 160 | 200 | 18| 8 | 4 | 65 | 115] 145 | 185 | 16| 2 | 340 | 160 | 180 | 141 | - |100| 95 | 140 | 212 | 280 | 254 | 474 | 253 - PG 16 - 40
65-125/5,5 80 | 134 | 160 | 200 | 18 | 8 4 65 | 115 | 145 | 185 | 16| 2 340 | 160 | 180 | 150 - 100 | 95 | 140 | 212 | 280 | 254 | 495 275 PG 135 | PG 16 - 52
65-125/7,5 80 | 134 | 160 | 200 | 18| 8 | 4 | 65 | 115|145 | 185 | 16| 2 | 340 | 160 | 180 | 150 | - |100]| 95 | 140 | 212 | 280 | 254 | 537 | 275 |PG135| PG 16 - 585
65-160/7,5 80 | 134 | 160 | 200 | 18 | 8 4 65 | 115 | 145 | 185 | 16| 2 360 | 160 | 200 | 150 - 100 | 95 | 140 | 212 | 280 | 296 | 537 275 PG135| PG 16 - 62
65-160/9,2 80 | 134 | 160 | 200 | 18| 8 | 4 | 65 | 115|145 | 185 | 16| 2 | 360 | 160 | 200 | 178 | - |100]| 95 | 140 | 212 | 280 | 296 | 594 | 359 |PG135| PG21 - 67
65-160/11 80 | 134 | 160 | 200 | 18 | 8 4 65 | 115 | 145 | 185 | 16 | 2 360 | 160 | 200 | 178 - 100 | 95 | 140 | 212 | 280 | 296 | 594 359 PG 135 | PG21 - 75.6

[1] Standard [2] On request [3] Only for three phase [4] Only for single phase

400

E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

DIMENSIONS 3(.)M 50, 65 50 Hz

Rev. L
B
D2
P2
DN2 PG21 296
©
\ Z— | ¢18
)
i S £
| -
- | = 728\ | — [\
g & &8 \\é, i J
5 1 N £ -
I o 'S T
S Fig. 1 i N
T
TT] h "
T T
100 499.5 20 || 4-9615 ‘
25 L4 N1
M N2
" &
- /ﬂrf 7-9$18
2-815
— o~
[
')
o
Fig. 2 -
L Fg2 | ||
1 1:1
254 5
- ]
-
4-914
I L4 | har]
Dimensions [mm]
Weight
Model (7] g | @ | D z [%] g | 2| @
- [kof]
oni | P ki D1 lsi| || one| P2 ke | D2 Fig.| H |HL|H2| W | M | N1I| N2| B C L1 | L2 | L3 | L4
50-200/15 65 |115(145|185| 16 | 4 50 | 95 [125|165| 2 |360|160|200| 70 | 115|212 | 265|723 |190.5| 254 | 318 | 65 | 304 96
65-160/15 80 | 134|160 | 200 | 18 8 4 65 | 115|145|185| 2 |360| 160|200 | 95 | 140|212 | 280 | 732|199.5| 254 | 318 | 65 | 304 93
65-200/15 80 [134|160|200| 18 | 8 4 65 |115|145|185| 1 |405|180|225| 95 |140|250|320|732| - |254|314| 60 |345| 114
65-200/18.5 80 |134(160|200| 18 | 8 4 65 |115(145|185| 1 |405|180|225| 95 |140|250|320|732| - |254|314| 60 |345( 127
65-200/22 80 |134(160|200| 18 | 8 4 65 |115(145|185| 1 |405|180|225| 95 |140|250|320|732| - |254|314| 60 |345| 136
[1] Standard [2] On request

401

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L M 80'160

50 Hz
Rev. L
80-160/11 — 80-160/13
¢ 200
8 135 147 173
o 8-918
J
R NN N
g 8 2 & | g
e o B he 2180
: e e
4-915 | || 80 _| 65
250
320
619
Pumps weight
80-160/11 : 94 kgf
80-160/13 : 97 kgf
402

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L M 80'160

50 Hz

80-160/15 — 80-160/18.5

147

173

PG21
DN80Q 8-g18

PG21

22

223

$ 225
8 155
$|309

_DN100_,

2-G3/8

Rev. L

4-915|_||

5.

o180 |

13

225

405

180

65

250

20

20

320

345

60
+
e
T

Pumps weight
80-160/15 : 130 kgf
80-160/18.5 : 143 kgf

403

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3()8 32, 40, 50

50 Hz

S2

D2
P2

DN2

Rev. L

A
B
- m
— -— = H — —
e 8 a 2 TR0000
- 0000D
i A
B V t l
i t ™
Fig. 1 — !
| C i | 15
| i
70 : 2-810
16 M i
o e 0]
= ——1 | ©
e
Fig. 2 N
Z
25
Dimensions [mm]
Model | 0| 0| 0|0 |0| 2|0 Welght
i kgf
onil Pl kil D1 N2l P2 | k2 | D2 | S2|Fig-| H | HL|H2|H3| R | M | NL|N2| A|B|C V1 V2 [kof]
32-125/1.1| 50 | 95 | 125|165 | 32 | 75 | 100|140| 14 | 1 |252|112|140|129| 80 | 114 | 140|190 | 213 | 430 | 174 | M25x1.5 | M20x1.5 | 23.1
32-160/1.5| 50 | 95 | 125|165 | 32 | 75 | 100|140| 14 | 1 |292|132|160| 138 | 80 | 118|190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5| 28.5
32-160/2.2 | 50 | 95 | 125|165 | 32 | 75 | 100| 140| 14 | 1 |292|132|160| 138 | 80 | 118|190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 | 32.4
40-125/1.5 | 65 | 115|145|185| 40 | 80 | 110|150 | 14 | 1 |252|112|140|138| 80 | 114|160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 | 26.5
40-125/2.2 | 65 | 115|145|185| 40 | 80 | 110|150 | 14 | 1 |252|112|140|138| 80 | 114|160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 | 29.6
50-125/2.2 | 65 | 115| 145|185 | 50 | 95 | 125|165| 16 | 2 | 292|132 | 160 | 138 | 100 | 114 | 190 | 240 | 254 | 497 | 186 | M25x1.5 | M20x1.5 | 32.9

404

= Eaara

EBARA PUMPS EUROPE S.p.A.



50 Hz

Rev. L

1sanbai uQ [z]

prepuels [T]

405

3 series

DIMENSIONS 3(.)8 32, 65

CENTRIFUGAL PUMPS

A4 8¢ | 8z¢ omLNHN 0.S | ¥SZ | 082 | 2TZ |OPT | G6 | OOT | T9T | 08T | 09T |OvE | ¢ | 9T |S8T |SYT |GTT| G9 | ¥ | 8 | 8T |00Z | 09T |¥ET | 08 | O'¥/S2T-G9
6'Sy | 8¢ |8z¢ omiﬁm 0GS | 962 | O | 06T |6TT | 0L | 08 |T9T | 08T [09T |OVE | T | ¥T |OPT | 00T | GL | Z€ ¥ | 9T |G9T |G2T | 6 | 0S | O'¥/002-2€
vey | ey |20z owimoN 825 | 962 | 02 | 06T |6TT | 0L | 08 |G¥T |08T |09T |OVE | T |¥T |OFT |00T | GL | 2¢€ | - | ¥ | 9T |G9T |S2T | S6 | 0S | 0°€/002-2€
2S|z2a | o |ed|eNa|lg|[tl|ts|ta| ™™ |1d |ING
B
[B3] |€1 |21 |11 | D | &8 |V |[ZN|IN|[W [M | d |EH|CH|TH | H 14 s ol ol o 2 s ol ol o -
wbMm
[ww] suoisuswig
I I
ZNa L] n N |
@\ e i
| A , ” 61
T } \_vﬁ AY _ m N .m
m ! WWM 8lo—v
Lo—+
¢N N 1S
IN M
Slg—v 7 7 G'C¢ 4 orl 7 0] d
| | | I
' i i o T .
/ﬂ%% : | 614
o , = M i
o = _ _ o T8 g i
WA — || 7
~& R 0000088
i ———— llall 2 5 s
T J unoon | 1! =
.@/ | | 0000 ui
T L
-u/nu — o _. ul\; u =
— |
B [oQ] — &F]
4 f ( )
S'LXOZN 3
glg—7 ZNd
v G IXGCN 73
[4q

EBARA PUMPS EUROPE S.p.A.




3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()8 40, 50, 65

Rev. L

1senbal uQ [g]

prepuess [1]

S¢

INQ
Id
1a

¥0T | 9S8 | 808 |S'22T | 00Z | 09T | 20¥ | 9T |S8T |SYT |GTT| S9 | ¥ | 8 | 8T |00Z | 09T | ¥E€T | 08 GT/09T-S9
9/ 9¥8 | 86/ |S'22T | 00Z | 09T |20¥ | 9T |[S8T |S¥T |STT| S9 | ¥ | 8 | 8T |00Z | 09T | ¥€T | 08 TT/09T-G9
TET | €68 | 864 | OTT |00Z | 09T | 20¥ | 9T | S9T |SZT | S6 | OS - ¥ | 9T |S8T |GYT |STT| S9 GT/002-05
/0T | €€8 | 86L | OTT |00Z | 09T | 20¥ | 9T |S9T |S2T | G6 | 0S - ¥ | 9T |S8T |GYT |STT | S9 TT/002-0S
/0T | €€8 | 86L | OTT |08T |09T |28€ | ¥T |OST |OTT | 08 | OF - ¥ | 9T |S8T |GYT |STT | S9 TT/002-0%
163 ] ; q m lzu e || ZS|za|ad|ed|eNna |2l [Tl |1s|ta| ™ | 1d | ING
(%] 1%} @ (/] (%] (/] (%] 1] |9POIN
wbem
[wwiy] suoisuawig
olg 74 0zl
ore M
0L 7 = : 001
6] ] 1 [L]) Hi
M\W 8157
= N
AN
- P
S
X
N N

¢Nd

¢d

ca

A

406

EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()8 32, 40, 50, 65

Rev. L

1senbai uQ [z]

prepuels [1]

09T [gTxopW [GTXOPN | - | - | - | - | - | -] - |888|ose|oze 0S| - | - |0OT | - |Sve |Gez |08T |GOv | € | 9T |S8T |GWT |STT| G9 | ¥ |8 | 8T |00z | 09T | ¥ET | 08 22/002-G9
w1 |STXOPW | STXOVIN | 09 | ¥TE | ¥S2 | ¥T | 0SE | 02 | T29 | 258 | 0S€E | 02€ | 052 | OvT | 56 | 00T |0z [8€Z | G2z [ 08T |SO¥ | 2 | 9T [S8T |SPT[STT| S9 | v |8 |8T |00z |09t |v€T | 08 | S'8T/002-G9
82T |stxovw | sTxov | 09 | vTE [ vSz | ¥T [0s€e | 02 | T29 | 808 | 0s€ | 0z€ [0Sz | ovT | 56 | 00T |0z [8ez |Sez o8t |Sor| z |9t [ss8r|svr|sTT| S9 | v |8 |81 |00z |09t |vET | 08 S1/002-59
1L |STXCEW S TXCEW | 05 [992 [ 9Tz [ 2T [0/ [ ST |67 299 [ 00€ [ 082 [2TZ [OvT | 56 [ 00T [ 82 [S6T |00 [09T [09€ | ¢ [9T [SBT[SPT[STT| S9 [+ |8 [8T [002 09T [v€T | 08 | 2'6/09T-G9
0L [gTxecew |[gTxcew | 05 [99z [ 9Tz | 2T [022 | ST |64F | 229 | 00€ | 08¢ | 2Te | O¥T | 56 | 00T | 82 | S6T [00Z | 09T [09€ | 2 | 9T S8BT [SwT [STT| G9 |+ [8 [ 8T |00z [09T [veET | 08 | S'2/09T-G9
29 |STXCEW |STXZEW | 0S | 992 | 9TZ | 2T | 042 | GT | 6% | 229 | 00€ | 082 | 2TZ | OVT | S6 | 00T | 82 | G6T | 08T [ 09T |OvE | 2 | 9T [GBT |G¥T [SGTT| S9 | v |8 | 8T [00Z | 09T [v€T | 08 | §'//S2T-G9
09 |STXeEW |STXZEW | 0S |99z | 9Tz | 2T | 042 | GT | 6% [ 229 | 00€ | 082 | 2Tz | OT | S6 | 00T |82 [S6T | 08T [ 09T |OvE | 2 | 9T [SBT |GPT [STT| S9 | ¥ |8 |8T |00Z 09T |¥€T | 08 | G'G/S2T-G9
L6, | STXCEW | STXZEW | 0S | 992 | 9Tz | 2T | 042 | GT | 6% [ 299 | 00€ | S92 | 2TZ | STT | 0L | 00T | 82 | S6T | 002 | 09T |09€ | 2 | 9T [G9T |GeT | S6 | 0G | - | ¥ | 9T |G8T [G¥T |GTT| S9 | 2'6/002-0G
969 |[STXCEW | STXZEW | 05 | 992 | 9TZ | 2T | 042 | ST | 6.% | 229 | 00€ | S92 | 2TZ | STT | 0L | 00T | 82 | S6T | 08T | 09T |OvE | 2 | 9T |S9T |GeT| S6 | 0S5 | - | ¥ | 9T |G8T | SpT |GTT| S9 | §'2/09T-0G
8€9 [gTxzew g Txzew | o5 |99z |9tz | 2T [0z2 | ST |67 | 229 | 00€ | S92 [eTz [STT |02 [00T [ 82 [S6T [08T [09T [ovE | 2 [9T |9t |Ger| g6 | 05 | - [ ¥ [9T[s8T|svT[STT| S9 | S'G/09T-05
GZv [STX0ZW [ST*XS2W | 05 [Ove [06T [ 2T [02z [ ST [ G6€ [045 [ ¥S2 [Ove [06T [ #TT [ 0L [00T [0z [TOT [09T [2€T [262| ¢ |9T [S9T[SeT [ S6 | 0S5 | - [¥ [9T [SBT[SPT [STT| S9 | O'7/S2T-0S
2y |STX0ZW | STXSZN | OF [ 002 | 09T | 2T |0cz | GT | 88€ | 8vS | ¥Sz | OvZ | 06T | #TT | 0L [ 00T | 2€ [SWT | 09T [2€T (262 | 2 | 9T [G9T |GeT | S6 | 0G | - | ¥ | 9T |G8T[SvbT |GTT| S9 | 0'€/S2T-0S
969 [GTXZEW |GTXZEW | 06 |99Z | 9TZ | 2T |02 | ST | 6% | /29 | 00E | S92 | 2T | STT | 0L | 00T | 82 |S6T | 08T |09T |O¥E | Z |[+T |OST |OTT | 08 | OF | - | ¥ | 9T |G8T |S¥T |STT| S9 | G'2/002-OF
€9 |STXCEW | STXZEW | 0S |99z | 9Tz | 2T | 042 | GT | 6.% [ 229 | 00€ | S92 | 2Tz [ STT | 0L [ 00T |82 [S6T | 08T [09T |ovE | 2 |#T [OST|OTT|[ 08 | O | - | ¥ |9OT |G8T [G¥bT |GTT| S9 | §'S/002-0v
STr [STX0ZN | STXGZIN | 05 | 0vZ | 06T | 2T | 022 | ST | S6€ | 0SS | ¥SZ | OvZ | 06T |8TT | 0L | 08 | 0Z |T9T | 09T |2€T [262 | T |¥T |OST |OTT | 08 | OF | - | ¥ | 9T |S8T |S¥T|STT| S9 | O%/09T-0F
6c |sTx0zW | STxSZW | OF [ 002 [ 09T | 2T |02z | ST |88€ | 825 | vsz [ ove [06T [8TT 0L | 08 [2€ [SwT 09T [2eT |262] T [vT]ost|otr| 08 | ov | - | v |9t [g8T|spT [STT| S9 | 0'€/09T-0v
9. [STXCEW[STXZEW | 05 [99z [9Te [ 2T [042 [ ST [64% [£09 [00€ [OvZ [06T [6TT [0L [ 08 [8Z [S6T [08T [09T [OvE | T [#T [OPT[00T [ SL | 2€ |- [¥ [9T [S9T[SeT [ S6 | 0S5 | §'2/002-2€
829 [STXZEW |GTXZEW | 0G | 992 [ 9Tz | 2T [0/Z | ST | 64 | L09 | 00 | O¥Z | 06T |6TT [0 | 08 [8Z |S6T | 08T |09T |O¥E | T [¥T |O¥T |00T | G2 | 2€ | - | ¥ | 9T [S9T |Ger | S6 | 0S5 | G'G/002-¢€
[463] ZA A claalt|olo|alola|v en|n|w|m|a |vHlen|an i n|6g|cS|eT |t ed 2Na el ][t 7s 110 [ ™1 [ 1d | TNG
g2 |0 |2 2|2 |2 | @ 19PON
wbem
[wwy] suoisuawig
w N
g @ 028
adii
& ] Nod Tl
g6 | | ez
G'8G 324 6¢¢ 7
[ |1.1_ ¢ ” *
. cby | f
N
1
S =
. 9
ZN
IN
Gl - ¥ 7 7 4
LNa /MWM%
8197
= N £
W
P (1> -
- \
pu g T
N (¥
8le—Z

<C

407

EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3L S 80'160

Rev. L

GST L8 G'8T/09T-08
A4S €€8 GT/09T-08
A" £€€8 dST/09T-08
GET £€8 TT/091-08
[16x]
o <l adA) dwng
0¢¢
0G6¢
g9
« P
- |a
(0]
o
0815
» T .
o
(8]
N 1
N
(8,

GLl

Glo—v

g M —— i
~ [
= + 3
N
L
S
0S¢
g
1c9 _ acl
0¢ m_N_
) G6
o
_ 144
M | T
/ : |
] N__|
A=Y m - A=Y
> — BB R
3 e o |&n
Z 1
&® N E
il
|
)
N
8l9—8 08Nd
G IXO¥N
Gl @
00C ¢

408

EBARA PUMPS EUROPE S.p.A.

= Eaara



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3LS 65'250, 80

Rev. L

409

see  [S'TX0SW [STX0SIN | 2T [ 6T | 96€ [G'ze [ 69€ | T20T [ 00z [ 00z [ 02€ [0 [ S6€ [8T€ [ S0€ | 08 [ 09T [00Y [STE [ 02T [Set [ sz [ST [otTe [08z [00z |08y |2z [00z [SeT [z B4 08 [¥Z | G2z [ 08T [SST [ 00T | L€/052-08
002 [STXOPIN |STXOVIN | T | ST |oge |5'8s | 62€ | €16 | 28T |S.T |oze |08 |0se |62 | Tve | S9 | Set |sve |08z | S6 |SeT |z | €T |svz | ose | 08T |oev |2z |00z |SET |z Bid 08 | vz [Sze | 08T | SST | 00T | 22/002-08
0ze |STXOSN [S'TX0SIN | LT | 6T [96€ |G'ze | Tre | 896 [00Z | 00Z | 0L€ [0L | S6€ |8T€ | SOE | 08 | 09T [09€ | 082 | 02T | 00T | Sz | ST [0T€E |05z | 002 0S¥ |02 | S8T [02T | T Bid 59 |22 |00Z 09T |SET| 08 | LE/0Se-S9
€0€ [S'TXOSW | S TXOSIN | LT | 6T |96€ | S'CE | TVE | 896 oowioom 0./€ | 0L | G6E | 8TE | SOE | 08 | 09T | 09€E | 082 | OZT | 00T | GZ | ST |OTE | 0S5 | 00Z | 0S¥ |02 | G8T | 02T | T 'Bi4 G9 | 22 |00Z | 09T |GET | 08 0€/052-99
14651] A TA |salea[ 9 [T1d4 | O | 9 N<7H< G1[el[eT1 [T 1 [TW| W [aN[IN|[ M | & [SH|pH|€EH |[2H [TH | H [¢S|ed [zd | eNa [TS[Ta|T> |1d [ING 4 d
adA) duing
wbIoMm [ww] suoisuawig
T K
| LN
Sde—v
Gl
g
| \ )
¢N 14 1
IN
LN ¢as—v
=
A A I R w |o
= 2=
T
-
-
N [
wn
78T >
8/¢£9-2 8l¢-8 TTNa
A4 v , id ,
¢a

EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3 L S 80

Rev. L

GlC ¢

0V 8T |GEV| Tv |G8E | TSOT |G2C | G2 |€6€ |GL |GEV | 9GE | TTE | 00T | G9T | GTY | GTE | 0CT |82 | GC | GEE | 082 | G2¢ | S0G | SP/0SC-08
Gce YT |96€ | G'CE | TVYE | €66 |00Z | 00C | 0LE |0L |S6E | 8TE |GOE | 08 |OET |09€ |08C | S6 |GZ | 0Z |OTE | 0GZ | 00C | 0GY | LE/00C-08
90¢€ YT |96€ | G'CE | TVYE | €66 |00Z | 00C | 0LE |0L |S6E | 8TE |SOE | 08 |OET |09€ |08C | S6 |GZ | 0Z |OTE | 0GZ | 00C | 0S¥ | 0€E/00C-08
[16x] ed| 9 =] 0 d ¢V | TV | ST (€721 | T1 T | TN| N |ZN|IN| M |(SH|VH|€H |¢H | TH | H
adA) dwngd
wbem [ww] suoisuawi@
e e
L=V
&
{
en]
N ] 7
IN
N 7 : ca— -
(6]
,W, H
[<|E|w TFW‘,’,
7 1
N :
T @ ” ,
” > ”
ML,
X w
o N J {-|g

v

G'IX0SW /

G'LXOSN

410

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

DIMENSIONS 3L S 80 50 Hz

Rev. L
099
Y
08¢ 00¢ 08 LO?
JR S Lo
S S
mﬁ'
N s
L 1 O
o D
0 o°] g
Nl © - } N (9]
ER oL 7= Jg
4 i L X ™ S
. ol o a
- AT ¢ B S
L (=l
s
|
n
wn
g \
o]
s
I
o]
|
0LE
%1484 0o¢
| 908
[
; 90v
| <
| = & T
H] ‘ ‘
MY . N
N
| S
{1 3
0 fl I | =
= Ul ‘ B ‘
°
ol = A——1 |
ST Lol |
= \/ o alll ' I -
HHHHHIHHHH A4 28
) A 1
U= Rt il ||
- ‘ !
o ‘ om
- ; ! ; — ]!
[ ; ]
1
g8 s -
e w O
Q
f44

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

DIMENSIONS 3()P 32, 40, 50, 65 50 Hz

Rev. L

CH H 08

I
-

N3
N1
N2
W\Lcﬁ\
P
%
DTS
DN1

< -
=
D
1 2
H ‘ ’ng
[ ™
] H —
S L1 4= <
- [ o
o © 0 4
A=Y
| [5)
I 1 | <+ 0 & —_—
_ S 2 ©
> e S ;
X
r " g 83 &
- ISUREER R n
IS =
) D © =]
® & 8 2
g Wl > > bt
§ & £
o©
> &) =
o (@]
S LL
s i A\
o o & [ L. AN g
ol al & n { 8
Tk H B~
J— 3 S~
%

5
O—
O

4-918

412

% E2ARA EBARA PUMPS EUROPE S.p.A.



3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3()P 32, 40, 50, 65

Rev. L

1s8nbai uQ [Z] prepues [1]
28T [ S TXOPI | S'TXOFIN | 000T | 09€ | 0S¥ | OT¥ | 008 | 00T | 069 | ESTT | 962 | 00T | Stz | G2z | 08T |SSv | 9T | S8T |S¥T |[STT| S9 |+ | 8 | 8T | 002 | 09T | ¥E€T | 08 22/002-G9
6ET | S TXOP | S'TXOFN | 000T | OEE | 0Zv | 08€ | 008 | 00T | ¥S9 | LTTT | 962 | 00T | 8€2 | S22 | 08T |GGy | 9T | S8T |SvT [STT| S9 | v | 8 | 8T [002 | 09T |¥€T | 08 | S'8T/002-G9
/2T | STXOPN | STXOFIN | 000T | OEE | OZv | 08E | 008 | 00T | 0T9 | €20T | 962 | 00T | 8€2 | G2z | 08T |SS¥ | 9T | S8T |S¥T |STT| S9 | ¥ | 8 | 8T |00Z | 09T | ¥ET | 08 GT/002-59
6TT | STXOVIN | S'TXOVIN | 000T | OSE | 0ZF | 08E | 008 | 00T | 0T9 | £20T | 962 | 00T | 8EZ | 00Z | 09T |OTv | 9T |S8T |SPT |STT| S9 |+ | 8 | 8T |00Z | 09T | ¥€T | 08 GT/09T-G9
¥IT |STXOP | STXOFIN | 000T | OEE | OZv | 08E | 008 | 00T | OT9 | €20T | 962 | 00T | 8€2 | 00Z | 09T | 0TV | 9T | S8T |S¥T [STT| S9 | ¥ | 8 | 8T | 002 | 09T | ¥ET | 08 TT/09T-G9
L0T |STXZEW | S TXCEW | 0S8 | 00E | 06€E | 0SE | 059 | 00T | Z8% | S¥6 | 962 | 00T | S6T | 00Z | 09T |OTY | 9T |S8T |S¥T |[STT| S9 | ¥ | 8 | 8T [00Z | 09T |¥ET | 08 | 2'6/09T-G9
€0T |G TXZEW [ S TX2EW | 058 | 00€ | 06€ | 05E | 059 | 00T | 2vv | 506 | 962 | 00T |S6T |00z [09T [0Tv | 9T |S8T |SvT|stT| S9 |+ | 8 |81 00z |09T [¥eT| 08 | S2/09T-G9
16 |STXCEW |STXZEW | 068 | 00€ | 06€ | OSE | 0S9 | 00T | Zv¥ | G06 | #SZ | 00T |S6T | 08T | 09T | 06€ | 9T [SBT |S¥T [GTT| S9 | ¥ | 8 [ 8T |00Z |09T |#€T | 08 | S§'2/SZT-G9
06 |S'TXZEW |S'TXZEW | 0S8 | 00E | 06€ | OSE | 0S9 | 00T | Zv¥ | G06 | ¥SZ | 00T |S6T | 08T | 09T | 06€ | 9T |S8T |S¥T |STT| S9 | ¥ | 8 | 8T | 002 |09T |#€T | 08 | S§'G/SZT-G9
z8 |sTx0zw|sTxSzZIN | 062 | 00€ | 06€ | 0SE | 065 | 08 |88€ | TS8 | Sz | 00T | T9T | 08T | 09T |06€ | 9T |S8T |S¥T |STT| S9 | ¥ | 8 | 8T |00z | 09T |#€T | 08 ¥/G2T-G9
¥'GZT |G TXOVIN | S TXOvIN | 000T | OEE | 0ZF | 08€ | 008 | 00T | OT9 |€20T | 962 | 00T | 8EZ | 00Z | 09T | OT¥ | 9T [ G9T |G2T| G6 | 0S | - | ¥ | 9T |S8T |G¥T |STT| S9 GT/002-0S
G'LTT [S'TXOFIN | S'TXOFIN | 000T | OSE | 02v | 08€ | 008 | 00T | OT9 | €20T | 962 | 00T | 8€Z | 00Z | 09T | OTF | 9T |S9T [S2T | S6 | 05 | - | ¥ [ 9T |S8T |SPT |STT | S9 TT/002-0S
00T |STXZEW |STXZEW | 0S8 | 00€ | 06€ | 0S€E | 059 | 00T | 287 | S¥6 | 962 | 00T | S6T |00z [ 09T |0Ty | 9T [S9T [S2T | S6 | 05 | - | ¥+ |9t [s8T|SpT [STT| S9 | 2°6/002-0S
G¥6 [STXZEW |STXZEW | 0S8 | 00€ | 06E | 0SE | 059 | 00T | 2¥v | S06 | 962 | 00T | S6T | 08T | 09T |06€ | 9T [G9T |SeT| G6 | 0S | - | ¥ | 9T |S8T |SvT |STT| S9 | §°2/09T-0S
68 [sTxzew|sTxzeW | 088 | 00€ | 06€ | 0SE | 0S89 | 00T | 2v¥ | S06 | 962 | 00T |S6T | 08T | 09T |06€ | 9T [S9T |S2T | S6 | 05 | - | ¥ | 9T [s8T |svT |STT| S9 | S'S/09T-0S
G'T8 |[STX0ZA |STXGZIN | 0SZ | 00€ | 06€ | 0SE | 06G | 08 | 88€E | TG8 |¥S¢ | 00T | T9T | 09T | ZET |2¥E | 9T [G9T |G2T| G6 | 0S | - | # | 9T |S8T |G¥T |STT| S9 ¥/G2T-0S
6, [sTx0ZW |STXGZW | 06 | 00€ | 06€ | 0GE | 06S | 08 | 99¢ | 628 | ¥S2 | 00T | S¥T | 09T | 2ET |2ve | 9T |S9T [S2T | S6 | 0S5 | - | # | 9T |S8T |SPT |STT | S9 €/G2T-0S
5. |stxozw|stxszw | ot [oo€ | o6€ |0sE 0SS | 08 | 21€ | 082 | #SzZ | 00T |8€T | 09T |2€T [eve | 9T [S9T|Set | S6 | 05 | - | ¥ |9r [s8T|spT|StT| 99 | 2'2/S52T1-0S
LTT  |STXOPI | S'TXOFIN | 000T | OEE | 02t | 08€ | 008 | 00T | 0T9 | €20T | 962 | 00T | 8€2 | 08T | 09T |06€ | #T |0ST |0TT | 08 | OF | - | ¥ | 9T |S8T |S¥T |STT| S9 TT/002-0%
S¥6 |STXZEW |STXZEW | 0S8 | 00€ | 06€ | 0SE | 059 | 00T | 2¥v | S06 | 962 | 00T | S6T | 08T | 09T |06€ | ¥T [0ST [0TT| 08 | OV | - | ¥ |91 |s8T|svT |STT| S9 | S2/002-0%
68 |5 Txzew|sTxzew | 068 | 00€ | 06€ | 05€ | 069 | 00T | 2t | 06 | 962 | 00T |S6T | 08T | 09T [06€ | #T [0ST|OTT| 08 | OF | - | ¥ [9T [S8T |spT|STT| 99 | S'S/002-OF
S79 [STX0ZN | S TXGZIN | 0G2 | 00€ | 06€ | 0SE [06S | 08 |88€ | T€8 |¥SZ | 08 | T9T | 09T | Z€T | 2FE | ¥T |OST |OTT | 08 | OF | - | ¥ | 9T |S8T |S¥T |STT | S9 ¥/09T-0%
S/, |S 102N | S TxGZW | 052 | 00€ | 06€ | 0GE | 065 | 08 |99 | 608 |¥S2 | 08 |SvT | 09T |2€T |zve | ¥T [0ST |0TT| 08 | OF | - | ¥ | 9T |S8T | S¥T |STT| S9 €/09T-0%
TG [S'TX0ZN |S'TXSZIN | OTZ | 0SZ | O¥€ |00E [0GS | 08 | 2T€ | 09/ |€TZ | 08 |8ET |OT |ZTT |20E | #T [OST|OTT | 08 | OF | - | ¥ | 9T |G8T |G¥T |STT | S9 | 2'2/SZT-OF
58y |5 TX0ZW | S TXG2W | 0T2 |05z | 0FE |00€ [0SS | 08 |2T€ | 092 €Tz | 08 [8€T [0OvT |2TT [20€ [T [osT |OTT | 08 | OF | - | ¥ |91 |g8T |spT|sTT| S9 | sT/szt-Ov
8'66 |G TXZEW |G TXZEW | 0S8 | 00€ | 06€ | 0GE | 059 | 00T |Z¥¥ | G588 | 962 | 08 | S6T | 08T | 09T [06€ | ¥T |OFT 00T | G2 | 2€ | - | ¥ |9T [S9T |SeT | G6 | 0§ | G°//002-2€
88 |S'TXZEW |S'TXZEW | 0S8 | 00E | 06€ | OSE | 0S9 | 00T | Zvv | G88 | 962 | 08 |S6T | 08T | 09T |06€E | #T [OVT |00T | G2 | 2€ | - | ¥ | 9T |G9T |[GeT | G6 | 0S | S§'S/002-2€
z. |sTx0zZW | S TXSZIN | 062 | 00€ | 06€ | 0SE | 065 | 08 |88€ | T€8 | 962 | 08 |TIT | 08T | 09T |06€ | ¥T [OVT 00T | G2 | 2€ | - | ¥ | 9T [S9T |seT| G6 | 0S ¥/002-2€
89 |S'TX0ZW |S'TXSZW | 06/ | 00E | 06€ | 0SE | 065 | 08 | 99€ | 608 | 962 | 08 |S¥T | 08T | 09T |06€ | #T [O¥T |00T | G2 | 2€ | - | ¥ | 9T [S9T |SeT| S6 | 0S £/002-2€
S'€S [STXOZN | S TXGZIN | 0GL | 00E | 06€ |0SE [06G | 08 | LTE | 09L |¥SZ | 08 |8ET | 09T |2€T [2ve | ¥T |OPT [00T | SL | 2€ | - | ¥ | 9T |S9T |GeT | G6 | 0S5 | Z'2/09T-2€
16 |stxozw [stxszn | 062 [ oo€ | o6€ | 05E 065 | 08 | 21€ | 092 [#Sz | 08 |8€T | 09T |2€T [eve | ¥T |OvT 00T | G2 | 2e | - | v |9T [s9T|set| a6 | 05 | S'T/09T-2€
Sy |G TX0ZW |G TxGZW | 0T2 | 0S2 | ore [00g | 0SS | 08 |zze | st [€T2| 08 [ 62T |opT [2tT [20€ | vT JopT [00T | G2 | 2€ | - | v |9t |sot|ser| s6 | 05 | T'T/S2T-2€

zS|za|ed|ed |enallel|ltl|ts|ta | ™ | 1d | TING
H_;%M\N> ZA A 1 |[eN|2N|IN| 3 | a |T18| 4g V | d |€H |2ZH |TH | H O e e s 2| o @ 19pon

[ww] suoisuawig

413

EBARA PUMPS EUROPE S.p.A.



Rev. L

50 Hz

3 series

DIMENSIONS 3LP 65'250, 80

CENTRIFUGAL PUMPS

L.€ |S'TXOSN |STXOSW | 8 |6T 00ZT | 000T | 96€ | 0L |0LL | 89ET | 09% | 06S | OES |SCT | 09 | OTE | 082 | 00Z |O¥S |22 |00C |GET | C° ¥ | S¢Z | 08T |SST | 00T | /E/0S2-08
¢SC |STXOPIN |[S'TXOVIN | 8 |6T 00ZT | 000T | 0ZE | 0L | 069 | 88T |09 | 06S | OES | SCT | 09 | S¥C | 0SZ | 08T |06% |22 |00C |SET | C° ¥Z | §¢C | 08T | SST | 00T | Z2/002-08
G8T |STXO¥W |STXOPN | S |ST 000T | 008 |ZTE|09€ |¥S9 |ZPTT |OEE | OCF |08E |SCT | 0S | 8EC | S22 | 08T |SG¥ |22 |00C |GET | C° ¥¢ | G2 | 08T | SST | 00T | §'8T/09T-08
9/T |STXOPN |STXOVIN | S |ST 000T | 008 |.T€ |09€ | OT9 | 860T | OEE | OCY | 08E |SCT | 0S | 8EC | S¢C | 08T |SSY |¢C |00C |SET | ¢ ¢ | G¢¢ | 08T | SST | 00T GT/09T-08
9T |STXOYW |S'TXOPIN| S |ST 000T | 008 |ZT€|09€ |0OT9 |860T |OEE |OCF |08E |SCT | 0S |8EZ | S2¢C | 08T |SSG¥ |22 |00C |GET | C° ¥Z | G2 | 08T | SST | 00T | ¥ST/09T-08
9T |S'TXOPN |STXOVPIN | S |ST 000T | 008 |ZTE€ |09€ | OT9 | 860T | OEE | OC¥ | 08E | SCT | 0S | 8EC | S¢¢ | 08T |SSv |22 |00C |SET | ¢ ¢ | G¢¢ | 08T | SST | 00T TT/09T-08
€LE |G TXOSW |S'TXOSWN | 8 |6T 00ZT | 000T | 96€ | 0L |0LL | EPET | 09% | 06S | OES | 00T | 09 | OTE | 0SZ | 00Z | 0TS |0C |S8T |0CT | T 22 |00Z | 09T |SET | 08 L€/0G2-99
¥S€ | S'TXOSWN |S'TXOSN | 8 | 6T 00ZT | 000T | 96€ | 0L | 0L, | EVET | 09F | 06S | OES 00T | 09 | OTE€ | 0S¢ | 00C |OTS |0C |S8T [0CT | T° ¢C |00C | 09T |SET | 08 0€/052-59
6 A A ‘ds |va 1 3 9 o} 19 |49 EN [ZN |IN |d YH |€H |[ZH |TH [H Z¢s |2a |ed 1S |Ta |11 |Td |INd
[463]
3] adAy dwng
HubeMm [ww] suoisuawig
N 1
IN 3 001
vQe—v o
w I
T
= _
I
=
- A I )
) =
T
N

18

414

EBARA PUMPS EUROPE S.p.A.

1a




3 series

CENTRIFUGAL PUMPS

50 Hz

DIMENSIONS 3L P 80

Rev. L

Oy |[S'TXOSN | STXOSN | SG¢ | S | 008 | 86ET | SEE€ | 08¢ | 00C | S99 | S¥/0S2-08
G9€ [ S'TXOSN | S'TXOSN | OC | 96€ | 0L, |89¢€T | OT€ | 0S¢ | 08T | OTS | LE/00Z-08
9G€ [ S'TXOSW | S'TXOSW | 0C | 96€ | 0/, |89€T | OTE€ | 0S¢ | 08T | OTS | 0€/002-08
[163] [4)\ TA S ) Td 4 €H Z¢H TH H

adA1 dwng
yBram

S

IH

CH

¢H

O|¢

Gt ¢

00c ¢

415

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

DIMENSIONS 3L P 80

50 Hz
Rev. L
509
08z 00C |0G| 6L
8
Y
o
~x
- X
18 0
~~
g =]
: 3e
) 7 g g @ =
-1 >
™M Qo
8V (o
|
\
R A
OERRAAAAT . g
\J i
0 Il ‘ i '§
%L U ‘ U 1
=( = ‘
(=2} \ PR, ‘
\J ]:: X N
oD AR R AR =
D s ¢
o _ ||
< (] ! L]
m | g |
n —
i 4
A
SN
L,,:L,,J 4
‘ R
3
44 ‘
g8g (o [
E=N s O " 8
— N2
T — Il =
PN
00ING
E)
Sz 6
416

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PACKING AND WEIGHT 3(.) M 50 Hz

Rev. L

PACKING [mm] | WEIGHT | PACK
Pump type

[kgf] TYPE
X Y Z
32-125/1.1 | 450|250]300| 21.5
32160115 | o0l oa0 | aag] 242
32-160/2.2 273 |
32-200/3 34.9 TYPE 1
32-200/4 500330390 423
32-200/5.5 53.2
32-200/7.5 |580|350|480| 65 2
4012515 |, 1o o001 223
40-125/2.2 247 |
N

40-160/3 490|280 340 30
40-160/4 37.6
40200555 | o0 | aco | 4ao| 545
40-200/7.5 616 | 2 ‘ x\
40-200/11 | 700|350 490| 73.8
50-125/2.2 30.8 X
50-125/3 490|280 340| 315 | 1
50-125/4 37.6 TYPE 2
50-16055 | ool acs | 4a0] 5%
50-160/7.5 61.1
5020092 |t l, o0l 675 | 2 ]
50-200/11 735

50-200/15 880390520 100
65-125/4 500]330(390| 40 1

65-125/5.5 |580(350(480| 52 ~

65-125/7.5 58.5

65-160/7.5 700 | 350 | 290 62

65-160/9.2 67

65-160/11 75.6 ‘ J t N
65-160/15 93 77‘ y ‘
65-200/15 830 | 390| 520 114 2 - -
65-200/18.5 127

65-200/22 136

80-160/11 2001 390 | 533 100

80-160/13 103

80-160/15 8801 390|518 137

80-160/18.5 151

417

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

PACKING AND WEIGHT 3(.)8 50 Hz
Rev. L
Pump type PACKING [mm] | WEIGHT | PACK
[kaf] TYPE
X Y z
32-125/1.1 | 450 250 300[ 23.6 | 1
32160115 | o0 | 50| 4g0] 334
32-160/2.2 35.9
32-200/3.0 475
32-200/4.0 | 700 [350(490( 4838
32-200/5.5 65.3 TYPE 1
32-200/7.5 717
40-125/15 | oo | aeo | 4a0l 289
40-125/2.2 333
40-160/3.0 41.9
40-160/4.0 | oo | oeof 00| 45.9
40-200/5.5 67.4 N
40-200/7.5 73.8
40-200/11 | 880 [390520| 114 N\
50-125/3.0 43 \/
50-125/4.0 465 T
50-160/5.5 | 700 [350(490( 67.8 X
50-160/7.5 736
50-200/9.2 83.7
S0-20011 | gg4 | 390 | 520 | 112 TYPE 2
50-200/15 136
65-125/4.0 a7 |,
65-125/5.5 60
65-125/7.5 | 700 [350(490| 67
65-160/7.5 70
65-160/9.2 77
65-160/11 | 880 520| 76 N
65-160/15 | 970 580| 104
65-200/15 | 880 [390(520| 128
65-200/185 | sg0| 141 J t N\
65-200/22 160 N
65250130 | 1100l 500|717 | 322 | . \/
65-250/37 339 | |
80-160/11 141
80-160/15R | 880 [390(518| 153
80-160/15 153
80-160/18.5 | 970 [390|588| 162
80-200/22 219
80200130 | 12001 500 | 717|325
80-200/37 344
80-250/37 354
80-250/45 |00l 600l 17| 429
80-250/55 517

418

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS 3 Serles

DIMENSIONS AND WEIGHT 3(.) P 50 Hz

Rev. L

= PACKING [mm] WEIGHT
ump type kol
X Y z
32-125/1.1 715 | 3401392] 435
32-125/1.1 M 312
32-160/1.5 51
. : 53.5
32-160/2.2 M 390
32-200/3.0 809 300|__68
32-200/4.0 831 72
32-200/5.5 013 08|88
32-200/7.5 99.8
40-125/1.5 760 302| oo
40-125/1.5M 340|322
40-125/2.2 760 302|
40-125/2.2 M 322
40-160/3.0 809 342| 775
40-160/4.0 831 | 59| 343] 645
40-200/5.5 013 08|89
40-200/7.5 94.5
40-200/11 1076 | 420|456 117
50-125/2.2
780 75
50-125/2.2 M 342
50-125/3.0 829 79
50-125/4.0 851 | 390(343]| 81.5 |
50-160/5.5 013 08|80
50-160/7.5 94.5
50-200/9.2 951 410| 100
50-200/11 1076 | 420 | 456 | 1175 N
50-200/15 125.4
65-125/4.0 851 390 82 \
65-125/5.5 90
408
65-125/7.5 913 | 390 97 Y -
65-160/7.5 410|103
65-160/9.2 951 107
65-160/11 114
456
65-160/15 1076, 119 - X —
65-200/15 476|127
65-200/18.5 | 1120 139
65-200/22 1175| 450 | 496| 182
65-250/30 1352 | 590 | 601 354
65-250/37 373
80-160/11 164
80-160/15R [ 1101\ | | 176
80-160/15 176
80-160/18.5 | 1145 185
80-200/22 1310 506| 252
80-200/30 356
80-200/37 1377|590 | 601 | 365
80-250/37 377
80-250/45 1465 645| 440
80-250/55 1570| 680| 715 528

419

% E2ARA EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

MOTOR DATA 50 Hz
Rev. L
Pump type Power Motor Capacitor | Input Full load current Locked rotor current
KWW HP Size | Type (kW] A Al
50 Hz mF Ve 230V | 400V | 690V | 230V | 400V 890V
3(OM 3212511 M 1.1 1.5 315 | 450 1.51 6.7 - 235 -
3()M 32-125/1.1 15 . 2 - - 2 59 34 365 | 211
(M 3216010 M 15 [ 2 40 450 21 96 - 47 -
3()M  32-180M1.5 15 7 20 - - 2 59 34 365 211
3(M 3218022 M 22 3 50 450 2.95 13.3 - i 63.8 - i
3()M  32-160/2.2 22 ] i 28 83 4.8 532 | 307
3()M  32-200/3.0 3 4 375 11.3 6.5 755 | 4386
3()M  32-200/4.0 4 55| 100 - - 51 15.9 92 828 | 478
3(OM  32-200/5.5 55| 75 112 65 i 10,4 6 i 90 155
3(OM  32-200/7 .5 75 10 B85 13,6 79 140 240
3(M 401251 5 M 15 2 40 450 21 96 - 47 -
3()M 4012315 15 2 - - 2 59 34 365 | 211
()M 4012522 M 22 3 20 50 450 2.95 133 - 638 -
3()M  40-125/2.2 7. 3 28 B3 4.8 ’ 532 | 307 ’
3(OM  40-160/3.0 3 4 - 3.75 11.3 6.5 755 | 436
3(OM  40-160/4.0 4 . 55 100 51 15.9 92 828 | 478
3()M  40-200/5.5 55 | 7.5 38 ’ Y 104 | 6 %0 155
3()M  40-200/7 .5 T 10 85 - 13,6 79 - 140 240
3()M  40-200/11 11 15 132 131 22 127 136 78.7
3(IM 50-125/22 M 2.2 3 S0 450 295 13.3 - 63.8 -
3(OM 50-125/2.2 2.2 | 3 90 28 83 4.8 532 | 307
3(OM 5012530 3 4 375 11.3 85 o8 436
3()M 50-125/4.0 4 55 100 5.1 15.9 92 828 | 478
3()M 50-160/5.5 5D . 75 112 - i ) 65 104 6 90 155
3()M 501607 5 75 10 85 13,6 79 140 240
3()M  50-200/9.2 92 | 125 132 11 - 18.8 108 - 117 67.3
3()M  50-200/11 11 15 131 22 12.7 136 78.7
3()M  50-200/M15 15 . 20 160 17.5 30 17.3 231 133
3(IM  65-125/4 4 5.5 100 51 15.9 92 - 828 | 478 -
3()M 65123/5.5 2:5 . 7.5 65 104 6 90 155
3(M 8512375 75 10 112 85 136 79 140 240
3(I)M  65-160/7.5 85 13,6 7.9 140 240
3()M 65-160/9.2 9.2 | 125 130 i i . 1 188 | 108 117 67.3
3()M  65-180/11 11 15 131 - 22 127 - 136 78.5
3()M 6518015 15 20 17.5 30 17.3 231 133
3()M 8520015 160 1¥:9 30 173 231 133
3()M 85-200/18.5 185 25 21:3 39 225 339 196
3(.)M 65-200/22 22 30 25 423 | 244 368 213
3LM  80-180/11 11 | 15 130 131 22 12.7 136 787
LM B0-180M13 13 1175 15 25 14.4 188 108
aLM  80-160/15 15 | 20 | ’ ) Sl 15| 30 | 173 | 231 133
3LM  80-160/18.5 185 25 21:3 39 225 339 196
500

= Eaara

EBARA PUMPS EUROPE S.p.A.



CENTRIFUGAL PUMPS

3 series

MOTOR DATA 50 Hz
Rev. L
Pump type Power Motor Input Full load current Locked rotor current
kW | HP [ Size | Type [kw] (Al Al
50 Hz 230V 400V | 690V | 230V | 400V | 690V
3()S 32-125/1.1 3()P 32-125/1.1 11| 15| 80 142 | 43 | 25 199 | 115
3()S 32-160/1.5 3(.)P 32-160/1.5 1.5 2 90 B5 191 5.9 34 29.4 17
3()S 32-160/2.2 3()P 32-160/2.2 22| 3 269 | 85 | 49 - 60.3 | 34.8 -
3(.)S 32-200/3.0 3(.)P 32-200/3.0 3 4 100 363 | 11.1 6.4 66.5 | 384
3()S 32-200/4.0 3(.)P 32-200/4.0 4 55 | 112 B35 4.71 14.4 8.3 115 66.4
3()S 32-200/5.5 3(.)P 32-200/5.5 55| 75 132 6.35 ) 10.5 6.1 ) 65.1 | 37.6
3(.)S 32-200/7.5 3(.)P 32-200/7.5 75| 10 8.36 14.6 8.4 122 70.4
3(.)S 40-125/1.5 3(.)P 40-125/1.5 1.5 2 9 BS 1.91 5.9 3.4 29.4 17
3()S 40-125/2.2 3(.)P 40-125/2.2 2.2 3 2.69 85 4.9 60.3 | 34.8
3()S 40-160/3.0 3()P 40-160/3.0 3 4 | 100 363 | 11.1 | 6.4 ’ 66.5 | 38.4 )
3(.)S 40-160/4.0 3(.)P 40-160/4.0 4 55 | 112 4.71 14.4 8.3 115 66.4
3(.)S 40-200/5.5 3(.)P 40-200/5.5 55| 75 132 B35 | 6.35 10.5 6.1 65.1 | 37.6
3(.)S 40-200/7.5 3(.)P 40-200/7.5 7.5 10 8.36 - 14.6 8.4 - 122 70.4
3()S 40-200/11 3(.)P 40-200/11 11 15 | 160 12.46 21.7 | 125 152 87.8
3(.)S 50-125/2.2 3(.)P 50-125/2.2 2.2 3 90 B5 2.69 8.5 4.9 - 60.3 | 34.8 -
3(.)S 50-125/3.0 3(.)P 50-125/3.0 3 4 100 3.63 11.1 6.4 - 66.5 384 -
3()S 50-125/4.0 3(.)P 50-125/4.0 4 55 | 112 4.71 14.4 8.3 - 115 66.4 -
3()S 50-160/5.5 3(.)P 50-160/5.5 55| 7.5 6.35 105 | 6.1 65.1 | 37.6
3(.)S 50-160/7.5 3(.)P 50-160/7.5 7.5 10 | 132 | B35 | 8.36 14.6 8.4 122 70.4
3()S 50-200/9.2 3()P 50-200/9.2 9.2 | 125 10.55 - 173 | 10 - 126 | 72.7
3()S 50-200/11 3()P 50-200/11 115 |0 12.46 21.7 | 125 152 | 87.8
3(.)S 50-200/15 3(.)P 50-200/15 15 20 16.78 285 | 164 231 133
3()S 65-125/4 3(.)P 65-125/4 4 55 | 112 471 | 144 8.3 - 115 66.4 -
3()S 65-125/5.5 3()P 65-125/5.5 55| 75 6.35 105 | 6.1 65.1 | 37.6
3()S 65-125/7.5 3()P 65-125/7.5 75| 10 | 132 8.36 146 | 84 122 | 704
3()S 65-160/7.5 3()P 65-160/7.5
3(.)S 65-160/9.2 3(.)P 65-160/9.2 9.2 | 125 B35 10.55 17.3 10 126 72.7
3()S 65-160/11 3(.)P 65-160/11 11 15 12.46 - 21.7 | 125 - 152 87.8
3()S_65-160/15 3()P_65-160/15 15 | 20 | 160 16.78 28.5 | 16.4 231 | 133
3()S 65-200/15 3()P 65-200/15
3()S 65-200/18.5 3(.)P 65-200/18.5 185| 25 20.56 34.1 | 19.7 290 167
3()S 65-200/22 3(.)P 65-200/22 22 30 | 180 24.5 425 | 245 287 166
3LS 65-250/30 3LP 65-250/30 30 40 200 32.88 546 | 315 387 223
3LS 65-250/37 3LP 65-250/37 37 50 40.45 66.7 | 385 484 279
3LS 80-160/11 3LP 80-160/11 11 15 12.46 21.7 | 125 152 87.8
3LS 80-160/15R 3LP 80-160/15R 15 20 160 16.78 285 | 16.4 231 133
3LS 80-160/15 3LP 80-160/15 15 20
3LS 80-160/18.5 3LP 80-160/18.5 185| 25 B3 20.56 ) 34.1 | 19.7 ) 290 167
3LS 80-200/22 3LP 80-200/22 22 30 | 180 24.5 425 | 245 287 166
3LS 80-200/30 3LP 80-200/30 30 40 32.88 54.6 | 315 387 140
3LS 80-200/37 3LP 80-200/37 37 50 | 200 40.45 667 | 371 484 285
3LS 80-250/37 3LP 80-250/37 37 50
3LS 80-250/45 3LP 80-250/45 45 60 | 225 48.86 79.8 | 46.1 540 312
3LS 80-250/55 3LP 80-250/55 55 75 | 250 59.3 99.4 | 57.4 693 400

501

= Eaara

EBARA PUMPS EUROPE S.p.A.



	3 Series-2poles 50Hz
	Contents
	Contents

	Specifications
	Pump specifications
	Pump specifications
	Motor specifications
	Selection chart
	Selection chart
	Selection chart
	Perf. chart
	Perf. chart 32-125
	Perf. chart 32-160
	Perf. chart 32-200
	Perf. chart 40-125
	Perf. chart 40-160
	Perf. chart 40-200
	Perf. chart 50-125
	Perf. chart 50-160
	Perf. chart 50-200
	Perf. chart 65-125
	Perf. chart 65-160
	Perf. chart 65-200
	Perf. chart 65-250
	Perf. chart 80-160
	Perf. chart 80-200
	Perf. chart 80-250


	Constructions
	Sectional view 3(.)M 32, 40, 50, 65-125/160/200
	Constructions 3(.)M 32, 40, 50, 65-125/160/200
	Sectional view 3LM 80-160/11/13
	Sectional view 3LM 80-160/15/18.5
	Constructions 3LM 80-160
	Sectional view 3(.)S 32, 40, 50
	Sectional view 3(.)S 65-125/160/200
	Constructions 3(.)S 32, 40, 50, 65-125/160/200
	Sectional view 3LS 80-160
	Constructions 3LS 80-160
	Sectional view 3LS 65-250, 80-200/250
	Constructions 3LS 65-250, 80-200/250
	Sectional view 3(.)P 32, 40, 50, 65-125/160/200
	Constructions 3(.)P 32, 40, 50, 65-125/160/200
	Sectional view 3LP 80-160
	Sectional view 3LP 65-250, 80-200/250
	Sectional view 3LP 65-250, 80
	Constructions 3LP 80-160
	Constructions 3LP 65-250, 80-200/250
	Ball bearing
	Ball bearing
	Mechanical seal standard and H version
	Mechanical seal L version Ø22
	Mechanical seal L version
	Mechanical seal HS version Ø22
	Mechanical seal HS and E version
	Coupling
	Flexible coupling
	Fittings
	Fittings

	Dimensions
	Dimensions 3(.)M 32, 40, 50, 65-125/160/200
	Dimensions 3(.)M 50, 65-160/200
	Dimensions 3LM 80-160/11/13
	Dimensions 3LM 80-160/15/18.5
	Dimensions 3(.)S 32, 40, 50
	Dimensions 3(.)S 32, 65
	Dimensions 3(.)S 40, 50, 65
	Dimensions 3(.)S 32, 40, 50, 65
	Dimensions 3LS 80-160
	Dimensions 3SL 65-250, 80
	Dimensions 3LS 80-200/250
	Dimensions 3LS 80
	Dimensions 3(.)P 32, 40, 50, 65
	Dimensions 3(.)P 32, 40, 50, 65
	Dimensions 3LP 65-250, 80
	Dimensions 3LP 80-200/250
	Dimensions 3LP 80
	Packing and weight 3(.)M
	Packing and weight 3(.)S
	Dimensions and weight 3(.)P

	Motor data
	Motor data 3(.)M
	Motor data 3(.)S, 3(.)P





